कार्यालय प्राचार्य,

शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला – बालोद (छ.ग.)

Email ID – govtcollegelohara@gmail.com

Tell.No- 07748-264001 Fax No- 07748-264001

पत्र क्रमांक / १८ 2 / पो.में. छा. / २०१९

डौण्डी लोहारा, दिनांक 22/03/2019

प्रति.

सहायक आयुक्त आदिवासी विकास शाखा, बालोद जिला–बालोद (छ.ग.)

विषय:— अनुसूचित जाति/जनजाति/पिछड़ा वर्ग पोस्ट मैद्रिक छात्रवृत्ति 2018–19 की स्वीकृत आदेश जमा करने बाबत्।

-00000-

उपरोक्त संदर्भित विषयान्तर्गत पोस्ट मैट्रिक अनुसूचित जाति/जनजाति/अन्य पिछड़ा वर्ग के स्वीकृत आदेश KYC (Sanction order) एवं (Sanction Report) सूची आपकी ओर निर्धारित प्रपत्र में भरकर आवश्यक कार्यवाही हेतु प्रेषित हैं।

- संलग्न :- (01) 3 प्रति के Sanction Order
 - (02) 3 प्रति में Sanction Report प्रपत्र।

(राजवुमार जैन) शासकीय एक क्रम्सिपान्य विद्यालय डोडीलोहारा, जिला बालोद (छ.ग.)

THURSTY COME OF THE PROPERTY O

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

सहायक आयुक्त (आदिवासी विकास शाखा, बालोद) ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति वर्ष 2018—19 अंतर्गत KYC Report की संस्थावार जानकारी (शासकीय)

क्र.	संस्था का नाम	संस्था का आई.	संस्था में कुल ऑनलाईन आवेदन	संस्था द्वारा कुल स्वीकृत आवेदनों की संख्या			संस्था द्वा	रा कुल स्वीव	हृत राशि	कुल विद्यार्थियों	कुल स्वीकृत	रिमार्क
		डी. नं.	की संख्या	अनुसूचित जनजाति	अनुसूचित जाति	अ.पि.व.	अनुसूचित जनजाति	अनुसूचित जाति	अ.पि.व.	की संख्या	राशि	
1	2	3	4	5	6	7	8	9	10	11	12	13
1	शासकीय एकलव्य महाविद्यालय, डौण्डीलोहारा	Ins5047	711	404	48	259	1857260	219559	6062249	711	2683068	

(राजक मीर जैन) शासकी समित प्राचीय शैडीलोहारा, जिला बालोद (छ.ग.)

THE WAR COLOR DONG!

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

कार्यालय प्राचार्य,

शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला – बालोद (छ.ग.)

Email ID - govtcollegelohara@gmail.com

Tell.No- 07748-264001 Fax No- 07748-264001

पत्र क्रमांक / ९/२ / पो.में.छा. / २०१९

डौण्डी लोहारा, दिनांक 23/03/2019

प्रति,

सहायक आयुक्त आदिवासी विकास शाखा, बालोद जिला–बालोद (छोग.)

विषय :- अनुसूचित जाति / जनजाति / पिछड़ा वर्ग पोस्ट मैद्रिक छात्रवृत्ति 2018–19 की स्वीकृत आदेश जमा करने बाबत्।

-----00000-----

उपरोक्त संदर्भित विषयान्तर्गत पोस्ट मैदिक अनुसूचित जाति/जनजाति/पिछड़ा वर्ग के नवीन/नवीनीकरण स्वीकृत आदेश KYC सूची आपकी ओर (Sanction order) एवं (Sanction Report) की जानकारी आवश्यक कार्यवाही हेतु प्रेषित हैं।

- संलग्न :- (01) 3 प्रति के Sanction Order
 - (02) 3 प्रति में Sanction Report पोस्ट मेंद्रिक छात्रतृत्ति वर्ष 2018–19 की जानकारी

S.n.	Name of Institution	Block	Institution	Total	Total Sanctioned	Sanction
				Sanctioned	Student in	Report Total
				Student	Sanction Report	Amount
01	Govt. Eklavya College, Dondi Lohara,Distt Balod C.G.	Dondi Lohara	ins5047	711	711	26,83,068

नवीन /		Total S	Sanctioned Student	in Sanction	n Report							
नवीनीकरण												
1	अजा / संख्या	राशि	अ.जन.जा / संख्या	राशि	अपि.	राशि						
					वर्ग / संख्या							
नवीन	21	99606	197	955967	115	265754						
नवीनीकरण	27	119953	207	901293	144 .	340495						
योग	48	48 219559 404 1857260 259 606249										

THE BEST OF THE STREET OF THE

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

शासकीय एकलेखाँ महिद्यालय बोडीलोहारा,जिला बालोद (छ.ग.)

ction Register for Scholarship

nment of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State:

Government of Chhattisgarh

Sanction Number

N/8/5047/3/10/87154

Sanction Date

15/03/2019

ation ID Student Name	Gender	Course	Type		Silver of the Contract of the		Applications Type	Fresh		
1470201 VARGUA CTAULA			, ype	No. of Month	Rate Mair	tenence 1	uition Fee Other	Fee To	tal Fee Tot	al Amoun
1479201 VARSHA SINHA	Female	B. Sc. (Hons.)/Biology/I	Fresh	9	55	owance				Altroun
1480972 CHANDRAKALA NOSURNAME	Female	B. A./Arts/I	Fresh	10		495	0	1772	1772	220
1482303 PREM SINGH	Male	B. A./Arts/I	Fresh		55	550	0	1772	1772	23.
1494403 HULESHWARI SONKAR	Female	B. Sc./Science/I	Fresh	9	55	495	115	1772	1887	23
1487703 BHOJ SAHU	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	23
1488072 KOMAL NOSURNAME	Male	B. A./Arts/I		10	55	550	115	1772	1887	
1488102 YAMINI NISHAD	Female	B. Sc. (Hons.)/Biology/I	Fresh	10	55	550	115	1772	1887	24
1489527 BHAKTPRAHLAD SAHU	Male	B. Com./Commerce/I	Fresh	9	55	495	0	1772	1772	24
1490199 HIMANSHI DEWANGAN	Female	B. A./Arts/I	Fresh	10	55	550	115	1772	1887	22
1490397 AJAY KUMAR	Male	B. A./Arts/I	Fresh	9	55	495	0	1772		24
1492414 RAHUL KUMAR SINHA	Male		Fresh	10	55	550	115	1772	1772 1887	22
1505630 SEEMA SAHU		B. Sc. (Hons.)/Biology/I	Fresh	9	55	495	115	1772		24
1510036 NEHA DEWANGAN	Female	B. A./Arts/I	Fresh	9	55	495	0		1887	23
	Female	B. A./Arts/I	Fresh	9	55	495	0	1772	1772	22
1498058 TILOCHAN KUMAR PATEL	Male	B. Sc./Science/I	Fresh	10	55	550		1772	1772	22
1498599 HEMLATA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	55		115	1772	1887	24
1505610 TIKESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	9		550	0	1772	1772	23
511194 ASHWANI KUMAR	Male	B. Sc./Science/I	Fresh	9	55	495	0	1772	1772	22
505490 POSHAN KUMAR	Male	B. Sc./Science/I			55	495	115	1772	1887	23
lon :		o, oc., ocicnice/1	Fresh	9	55	495	115	1772	1887	23

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the composal from the composal from the composal from attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of caldidate and annual incomposal from attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of caldidate and annual incomposal from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves in Structure, otherwise discontinues the studies of accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship applications included in the above proposal from an attached with certification included in the above proposal from the composal from

Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

nction Register for Scholarship

erhousest of Clihattisgarh

State

Government of Chhattisgarh

Sanction Number

N/8/5047/3/10/87154

Sanction Date

15/03/2019

Applications Type

Fresh

Scholarship	scheme.	Post Matric	UDU	Scholarship

Category: OBC

Aklavya College Doundilohara Distt Balod Institute Name

Academic Year: 2018-19

lication IQ Student Name	Gender	Course	Туре	No. of F Month	Manager of the Party of the Par	tenence Tuiti	on Fee Oth	er Fee Tota	Tee Total	mount
126829 DANESHWAR KUMAR SINHA	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	1190	1305	2205
138117 VIJAY KUMAR SAHU	Male	M. A./Poi. Science/I	Fresh	9	100	900	115	1190	1305	2205
715009 NAMESH KUMAR SAHU	Male	M. A./History/I	Fresh	9	100	900	115	1190	1305	2205
721704 JHAMIT NISHAD	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1190	1190	2090
1129236 DALESHWAR NO SARNAME	Male	M. A./Hindi/I	Fresh	9	100	900	115	1190	1305	2205
1262331 NARESH .KUMAR SAHU	Male	M. A./History/I	Fresh	9	100	900	115	1190	1305	2205
723377 JHAMITA PATEL	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1190	1190	2090
847378 CHANDNI SAHU	Female	M. A./Economics/I	Fresh	9	100	900	0	1190	1190	2090
1129040 YUVRAJ KUMAR NISHAD	Male	M. A./History/I	Fresh	9	100	900	115	1190	1305	2205
	Male	M. A./History/I	Fresh	9	100	900	115	1190	1305	2205
1132289 SHIVSHANKAR NO SERNAME		M. A./Pol. Science/I	Fresh	9	100	900	115	1190	1305	2205
1170989 BHUSHAN KUMAR	Male	M. A./Hindi/I	Fresh	9	100	900	0	1190	1190	2090
1212694 TANUJA SAHU	Female		Fresh	9	100	900	115	1190	1305	2205
1479721 DHANESH KUMAR YADAV	Male	M. A./Pol. Science/I	Fresh	10	55	550	0	1772	1772	2322
1492445 CHANDNI SINHA	Female	B. A./Arts/I	Fresh	9	100	900	0	1190	1190	2090
1268651 REENA YADU	Female	M. A./Hindi/I		9	100	900	115	1190	1305	220
1419868 KAMDEV KUMAR	Male	M. A./Hindi/I	Fresh		100	900	115	1190	1305	220
1442261 POKHENDRA KUMAR	Male	M. A./Pol. Science/I	Fresh	9	100	300				

ed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from io. 1 to 115 I do here by sanctioning a sum of Rs.Out of which Rs....as maintenance allows ace and Rs. 24575 Uas tuition and other fees. Printed copy of online ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of andidate and a way ancopy of Parents/Guardian from all sources of the or otherwise discontinues the studies or accepts ate have been kept safely in the office and will be subject to verification of competent authority. In case he applicant ner regular scholarship/stipend the fact will be immediately reported to the authority for eventual discortinuance of splan stip stip from the period it is detected.

A 1-1

(Signature & Seal of Head Sincipalstitution) Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

etion Register for Scholarship

rement of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

> OBC Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19



State

Government of Chhattisgarh

Sanction Number

N/8/5047/3/10/87154

Sanction Date

15/03/2019

Applications Type

ication ID Student Name	The second second	M ATTEMPT OF THE PROPERTY OF THE PARTY OF TH	NOTE WITH THE PARTY OF THE PART				Applications T	ype : Fresh	1	
E. CARCOLLON, Control of the Control	Gender	Course	Туре	No. of Month	Rate Mai	ntenence '	Tultion Fee	ther Fee	Total Fee Tot	al Amount
1498704 YOGESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	lowance				
1522246 GULESH KUMAR	Male	B. A./Arts/I	Fresh	9		550	115	1772	1887	2437
1505668 GAYATRI NOSURNAME	Female	B. A./Arts/I	Fresh	free or and a second	55	495	115	1772	1887	2382
1500323 PRIYANKA SAHU	Female	B. Sc. (Hons.)/Zoology/I	Fresh	10	55	550	0	1772	1772	2322
1504380 POSHAN KUMAR	Male	B. Sc. (Hans.)/Biology/I	Fresh	8	55	440	0	1772	1772	2212
1510806 DEEPIKA YADAV	Female	B. Com./Commerce/I		10	55	550	115	1772	1887	2437
1505519 MANISHA NOSURNAME	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1512521 DAYANAND NOSURNAME	Male		Fresh	10	55	550	0	1772	1772	2322
1506161 YAMESHWARI NOSIRNAME	Female	B. Sc./Science/1	Fresh	9	55	495	115	1772	1887	2382
1512436 RITU SAHU		B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1510001 SEVANT KUMAR	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1513801 DILESHWARI PATEL	Male	B. Sc./Science/I	Fresh	10	55	550	115	1772	1887	
	Female	B. Sc. (Hons.)/Zoology/I	Fresh	9	55	495	0	1772	1772	2437
1510125 VIDYA DEWANGAN	Female	B. Sc. (Hons.)/Zoology/I	Fresh	9	55	495	0	1772		2267
1515612 PANKAJ KUMAR	Male	B. Sc./Science/I	Fresh	9	55	495	115		1772	2267
1515597 POMESHWAR NOSURNAME	Male	B. Sc./Science/I	Fresh	9	55	495		1772	1887	2382
1515645 RUPESH KUMAR	Male	B. A./Arts/I	Fresh	9	55		115	1772	1887	2382
1514074 GOVARDHAN NISHAD	Male	B. Sc. (Hons.)/Zoology/I	Fresh	9		495	115	1772.	1887	2382
1520511 SHIVAM KUMAR MAHOBIYA	Male	B. A./Arts/I	Fresh	Salar Sa	55	495	115	1772	1887	2382
ation :			ricar	9	55	495	115	1772	1887	2382

that students studying in this institution are entitled for post matric scholarship and after thoroughly exa nining the scholarship applications included in the above proposal from as tuition and other fees. Printed copy of online hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of car didate and annual Nervon Parents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves of ptherwise discontinues the studies or accepts er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontir Jance of scholarship/stipend gram the period it is detected.

Signature & Seal of Headov: PRIAVya Collage DondiLohara Distt Balod (C.G.)

anction Register for Scholarship

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State:

Government of Chhattisgarh

Sanction Number:

N/8/5047/3/10/87154

Sanction Date:

15/03/2019

Applications Type

Fresh

plication ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence 1	luition Fee Ot	ther Fee	Total Fee Total	Amount
1524316 TRIPLA YADAV	Female	B. Sc./Science/I	Fresh	10	55	550	0	1772	1772	2322
1524144 KAUSHILYA PATEL	Female	B. Sc./Science/I	Fresh	9	55	495	0	1772	1772	2267
1522894 PAYAL YADAV	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1519747 RAKHI SAHU	Female	B. Sc./Science/I	Fresh	10	55	550	0	1772	1772	2322
1527885 SHASHI SAHU	Female	B. Sc./Bio Technology/I	Fresh	9	55	495	0	1772	1772	2267
1533720 YOGENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	55	550	115	1772	1887	2437
1543261 REKHA YADAW	Female	M. A./Hindi/I	Fresh	9	100	900	0	1190	1190	2090
1513544 SAVITRI DEWANGAN	Female	B. Sc. (Hons.)/Zoology/I	Fresh	9	55	495	0	1772	1772	2267
1530612 DURGESH KUMAR	Male	B. A./Arts/I	Fresh	9	55	495	115	1772	1887	238
1515583 THAMAN LAL	Male	B. Sc./Science/I	Fresh	10	55	550	115	1772	1887	243
1543583 LITESHWAR KUMAR	Male	B. A./Arts/I	Fresh	8	55	440	115	1772	1887	232
1515820 NEHA DEWANGAN	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	232
1514007 JYOTT DESHMUKH	Female	B. Sc. (Hons.)/Biology/I	Fresh	10	55	550	0	1772		232
1515651 DIPTI NOSURNAME	Female	B. A./Arts/I	Fresh	10	55	550	0	1772		237
1530198 NEERAJ SAHU	Female	B. A./Arts/I	Fresh	9	55	495	0	1772		226
1543384 RIKHAM KUMAR YADAV	Male	B. A./Arts/I	Fresh	9	55	495	115	1772		23
1547547 MITHLESH KUMAR NO	Male	B. A./Arts/I	Fresh	9	55	495	115	1772		23
1536513 NEHA DEWANGAN	Female	B, A./Arts/I	Fresh	10	55	5 550	0	1772	1772	23

ration:

Principal

Principal

Continuo Continuo

Scholarship Scheme Post Matric OBC Scholarship

> OBC Category

Akizvya College Doundilohara DistLBalod Institute Name

2018-19 Academic Year

State Government of Chhattisgarh

Sanction Number: N/8/5047/3/10/87154

Sanction Date 15/03/2019

Applications Type : Fresh

cation ID Stodent Name	Center	Course	Тўре	No of Month	Rate Mari	itenerice Tuit	on Fee Oth	er Fee	Total Fee Tota	Amount
1556159 KUMARI MUKESHWARI	Female	B. Sc./Science/I	Fresh	10	55	550	0	1772	1772	2322
1555619 SHRAVAN KUMAR	Male	B. AJArts/I	Fresh	9	55	495	115	1772	1887	2382
1553578 ROSHAN LAL	Male	B. A./Arts/I	Fresh	10	55	550	115	1772	1887	2437
1546763 JHAMIT DHANKAR	Female	B. A./Arts/I	Fresh	9	55	495	0	1772	1772	2267
1514986 GOPICHAND PATEL	Male	B. A./Arts/I	Presh	9	55	495	115	1772	1987	2382
1563821 RUPESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1772	1887	2437
1543408 GAGAN NISHAD	Female	B. Sc./Science/I	Fresh	9	55	495	115	1772	1887	2382
1549513 MANGU YADAV	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1553491 VEDPRAKASH NOSURNAME	Male	B. A./Arts/I	Fresh	8	55	440	115	1772	1887	2327
1566074 UPASANA CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	55	495	0	1772	1772	2267
1553519 MAMTA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	55	495	0	1772	1772	2267
1562624 LAXMI PATEL	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1561500 HAMESHWARI SINHA	Female	B. Sc. (Hons.)/Biology/I	Fresh	9	55	495	0	1772	1772	2267
1553540 VENUKA DIDT	Female	B. A./Arts/I	Fresh	9	55	495	0	1772	1772	2267
1555453 AASHISH KUMAR NOSURNAME	Male	B. A./Arts/I	Fresh	10	55	550	115	1772	1887	2437
1567802 CHANCHAL NOSURNAME	Fernale	B. Sc./Science/1	Fresh	9	55	495	0	1772	1772	2267
1556681 KIRAN SAHU	Female	M. A./Hindi/I	Fresh	9	100	900	0	1190	1190	2090
1575910 SARITA NO	Fernale	B. A./Arts/I	Fresh	9	55	495	0	1772	1772	2267

ation :

that students studying in this institution are entitled for post matric scholarship and after thoroughly exa nining the scholarship applications included in the above proposal from as tuition and other fees. Printed copy of online Out of which Rs.....as maintenance allowanc and Rs..... . 1 to ___ I do here by sanctioning a sum of Rs. ____ Wyarcof Parents/Guardian from all sources of the hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of car didate and annual otherwise discontinues the studies or accepts te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves ip and from the period it is detected. or regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontir sance of scholarship.

ature & Seal of Head of tipringipalon) Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.) get of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Aklavya College Doundilohara Distt.Balod Institute Name

Academic Year 2018-19 State

Government of Chhattisgarh

Sanction Number

N/8/5047/3/10/87154

Sanction Date

15/03/2019

Applications Type

Fresh

Printer ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence T Allowance	uition Fee	Other Fee	Total Fee	Total Amount
1565727 MINAKSHI DEWANGAN	Female	B. Sc./Science/I	Fresh	10	55	550	0	1772	1772	2322
1571000 CHITREKHA NOSURNAME	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1567297 MANJU NO	Female	B. Com./Commerce/I	Fresh	10	55	550	0	1772	1772	2322
1575077 GUNITA SEN	Female	B. Sc./Science/I	Fresh	9	55	495	0	1772	1772	2267
1562694 BHEVESH KUMAR	Male	B. A./Arts/I	Fresh	9	55	495	115	1772	1887	2382
1568233 YAMINI NO	Female	B. Com./Commerce/I	Fresh	10	55	550	0	1772	1772	2322
1570880 PEMIN NOSURNAME	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1564292 TARUN KUMAR	Male	B. A./Arts/I	Fresh	9	55	495	115	1772	1887	2382
1584460 SONAM NOSIRNAME	Female	B. Sc. (Hons.)/Zoology/I	Fresh	10	55	550	0	1772	1772	2322
1566648 NEMIN NO	Female	B. Com./Commerce/I	Fresh	10	55	550	0	1772	1772	2322
1570475 DEEPIKA MARATHE	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1572024 GEETA SAHU	Female	B. A./Arts/I	Fresh	10	55	550	0	1772	1772	2322
1585804 DOMENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	55	495	115	1772	1887	2382
1581721 BHUMESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1772	1887	243
1580188 KAJAL DESHMUKH	Female	B. Sc./Science/I	Fresh	9	55	495	0	1772	177.	2 226
1576268 KHOMESHWARI SHRIWAS	Female	B. Sc./Science/I	Fresh	9	55	495	0	1772	177	
1576829 GAUKARAN NO	Male	B. Sc./Science/I	Fresh	9	55	495	115	1772	188	
1588280 VIJENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1772	188	The second second second

ation:

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from o. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowanc and Rs.as tuition and other fees. Printed copy of online ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of car didate and annual income of Parents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution of otherwise discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontir uance of scholarship and trees the period it is detected.

& Seal of Head of the institution)

Principal Govt. Eklavya Collage Dondi Lohara, Distt. Balod (C.G.)

Scholarship Scheme

Post Matric OBC Scholarship

Category OBC

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19

Government of Chhattisgarh

Sanction Number

N/8/5047/3/10/87164

Sanction Date

15/03/2019

cation ID Student Name							Applications	ype: Fresh		
1579558 TULESHWARI SAHU	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1577800 DHARMENDRA KUMAR	Female	B. A./Arts/I	Fresh	9	55	495	0	1772	1772	2267
1592438 PRAHLAD KUMAR SINHA	Male Male	B. A./Arts/I	Fresh	8	55	440	115	1772	1887	2327
1595747 VARSHA NOSURNAME	Female	B. Sc./Science/I B. Sc. (Hons.)/Zoology/I	Fresh	9	55	495	115	1772	1887	2382
1580745 BHUNESHWARI PATEL	Female	B. Sc./Science/I	Fresh	10	55	550	0	1772	1772	2322
1596437 SAPNA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	55 55	495 495	0	1772	1772	2267 2267
1600284 DIVYA NO	Female	B. A./Arts/I	Fresh	9	55	495	0	1772	1772	2267
1602330 NITESH KUMAR	Male	B. A./Arts/I	Fresh	10	55	550	115	1772	1887	2437
					Total:	66470	5980	193304	199284	265754

ration:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the scholarship applications included in the above proposal from the scholarship applications included in the above proposal from the scholarship applications included in the above proposal from the scholarship applications included in the above proposal from the scholarship applications included in the above proposal from the scholarship applications included in the above proposal from the scholarship application and other fees. Printed copy of online rship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of car didate and annual income of Parents/Guardian from all sources of the ate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves with the office and will be subject to verification of competent authority. In case the applicant leaves with the office and will be subject to verification of competent authority. her regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontir uance of scholarship/stipend the period it is detected.

Dondi Lohara, Dist - Boled

(Signature & Seal of Head of the Institution) मध्यमय जयते Name (Canital Leters) : Principal

Govt.Eklavya Collage Dondi Lohara, Distt, Balod (C.G.)

机制用利用单数

Post Matric OBC Scholarship Scholarship Scheme

Category

Aklavya College Doundilohara Distt Balod Institute Name

2018-19 Academic Year

State

Government of Chinattisoarh

Sanction Number

R/8/5047/3/10/88941

Sanction Date 13/03/2019

Applications Type Renewal

Marie Control of the			Tree			The second second		7 7 7 6 7 6 7 6 9 6 9 6 9 6 9 6 9 6 9 6		Off will are all properties of
										A Company
711534 DHARMENDRA KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
838754 BIRENDRA KUMAR SAHU	Male	B, A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
842311 SEVANTI LARIYAWANSI	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
845076 JAGRETTI SAHU	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
936672 NUTAN SAHU	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1202219 DIVYA SAHU	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1414281 POOJA KUMARI SAHU	Female	M. A./Hindi/II	Renewal	9	100	900	0	1075	1075	1975
1428818 VASHENE NOSURNAME	Female	M. A./Hindi/II	Renewal -	9	100	900	0	1075	1075	1975
1382981 NEELOO RAUT	Female	M. A./Hindi/II	Renewal	9	100	900	0	1075	1075	1975
1276648 RAJESH KUMAR	Male	B. Sc./Bio Technology/II	Renewal	8	70	560	115	1772	1887	2447
1276185 IXESH KUMAR PATEL	Male	B. Sc./Bio Technology/II	Renewal	9	70	630	115	1772	1887	2517
. 1418734 KHOMENDRA KUMAR DEWANGAN	Male	B. Sc./Bio Technology/II	Renewal	8	70	560	115	1772	1887	2447
1380832 MANISH KUMAR NO SURNAME	Male	P. A./Pol. Science/II	Renewal	9	100	900	115	1075	1190	2090
859042 YLVRAJ SONKAR	Male	M. A./Pol. Science/II	Renewal	9	100	900	115	1075	1190	2090
" 1206855 PREM CHAND SIMHA	Male	M. A./Pol. Science/II	Renewal	9	100	900	115	1075	1190	2090
- 118029 Leena Devi kumari	Female	M. A./Economics/II	Renewal	9	100	900	0	1075	1075	1975
\$ 678297 PRITAM LAL SAHU	Male	M. A./Economics/II	Renewal	9	100	900	115	1075	1190	2090

tion:

that students studying in this institution are entitled for post matric scholarship and after thoroughly exmining the scholarship applications included in the above proposal from 1 to 1441 do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowan e and Rs. 34043 stuition and other fees. Printed copy of online p form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and a many and proper of Parents/Guardian from all sources of the or otherwise discontinues the studies or accepts have been kept safely in the office and will be subject to verification of competent authority. In case the applicant lawyer regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.

mi Inhara. Dist - Balod

Dondi Lohara, Distt. Balod (C.G.)

nction Register for Scholarship

grament of Chhatbayarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Institute Name

Aklavya College Doundilohara Distt.Balod



Government of Chinastiagesth

Sanction Number

R/8/9047/3/10/8694

Sanction Date

13/03/2019

Academic Year 2018-19						Appli	cations Type	Renewal		
Student Name	Gender	Course	Туре	No. of Month	Rate Maint	enence Tuitio	n Fine Othe	r Fee Tota	Fee Total	enount
1210248 GHANILATA DEWANGAN	Female	M. A./Hindi/II	Renewal	9	100	900	0	1075	1075	1975
1444690 YAMINI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1366848 KAMINI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1.772	1772	2832
1534798 NOMITA VISHWAKARMA	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1249727 CHITREKHA NO SERNAME	Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	2332
1348032 pooja sinha	Female	B. Sc. (Hons.)/Zoology/II	Renewal	9	70	630	0	1772	1772	3402
1549724 OMESHWARI PATEL	Female	B. Sc. (Hons.)/Zoology/II	Renewal	8	70	560	0	1772	1772	2332
828014 BHAVNA SEN	Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	2332
1595029 OM PRAKASH	Male	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2587
1360891 KHUMAN SINGH	Male	B. Sc./Science/II	Renewal	10	70	700	1.15	1772	1887 1887	2447
1575614 CHIRANJIVI SAHU	Male	B. Sc./Science/II	Renewal	8	70	560	115	1772	1772	2332
1420170 LALESHWARI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1420681 REEMA NO SERNAME	Female	B. Sc./Science/II	Renewal	8	70	560	0		1772	2332
1556306 RENUKA SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1887	2447
	Male	B. Sc./Science/II	Renewal	8	70	560	115	1772	1772	2332
1544331 MOHIT KUMAR	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1418131 REEMA SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1887	2517
1370403 SARITA KUMARI 1595320 SAGAR KUMAR YADAV	Male	B. Sc./Science/II	Renewal	9	70	630	115	1772	1007	

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Ritually or otherwise discontinues the studies or accepts e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant are nip form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached with certified copy of mark sheet of possible form attached copy of the p olars/st pend from the period it is detected ...

Principal Principal (Signature & Seal & HERALDY THE MASTITUTION) Name (Capital and Chara, Distr. Balod (C.G.)

nction Register for Scholarship

vernment of Chhattiscarh

Post Matric OBC Scholarship Scholarship Scheme

> OBC Category

Institute Name Aklavya College Doundilohara Distt Balod

Academic Year 2018-19

Government of Christiagans

Sariotion Number

R/9/5047/3/10/8/8941

Sanction Date

13/03/2019

Applications Type

Renewal

	Cardenno 1 (2)							Abbacations (Abs.	Remand		
plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate Ma	Intervence Howance	fultion fee Other	Pee To	ta Fee To	and Airthfording
1254446 AM	DU PATEL	Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	7337
1379937 VI	RENDRA KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1772	1887	2447
1428592 KA	MINI NO SURNAME	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1410852 HC	MESHWARI NO SIRNAME	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2333
1526631 JY	OTI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2337
1575446 LA	LITA SEN	Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1,772	2332
1560076 UT	TAM KUMAR NOSURNAME	Male	B. Sc./Science/II	Renewal	8	70	560	115	1772	1897	2447
1422953 RE	SHMA KUMARI	Female	B. Sc./Science/II	Renewal	10	70	700	0	1772	1772	2472
1424018 SH	EETAL KUMAR	Male	B. Sc./Science/II	Renewal	9	70	560	115	1772	1887	2447
1450271 HIM	MANSHU DEWANGAN	Male	B. Sc./Science/II	Renewal	8	70	560	115	1772	1887	2447
1440130 NIT	ESH SINHA	Male	B. Sc./Science/II	Renewal	8	70	560	115	1772	1887	2447
1405645 TIK	ESHWARI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1543728 PRI		Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
821899 DEV		Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	2332
827852 SAP		Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	23302
1247868 LAL		Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	2332
		Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1355240 NIRI 1411946 CHE	TRAREKHA NOSURNAME	Female	8. Sc./Science/II	Renewal	8	70	560	0	1772	17+6	

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from . 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowanie and Rs. nip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and ag e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leager in the office and will be subject to verification of competent authority. In case the applicant leager in the office and will be subject to verification of competent authority. In case the applicant leager in the office and will be subject to verification of competent authority.

Wayauciog and other fees. Printed copy of online Parents/Guardian from all sources of the Principal

Aignature & Seal of He Govt! Pklavya Collage DondiLohara, Distt. Balod (C.G.)

nction keliam

vernment of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme

> Category OBC

Institute Name Aklawa College Doundilohara Distt.Balod

Academic Year 2018-19

Government of Chhattagain

Sanction Number

R/8/5047/3/10/90941

Sanction Date

13/03/2019

Applications Type

Renewa

								pro como opini		
plication ID Student Name	Gender	Course	Туре	No. of Month	AMPROPRIES AND THE PROPERTY OF	ttenence Tu	tion fee Ot	her fee	Total Fee To	tal farment
1432530 GAYATREE SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
1268631 PARAKHMANI SAHU	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2947
1271063 LOKESH KUMAR	Male	B. Com./Commerce/III	Renewal	8	70	560	115	1772	1887	3467
1584548 PRAVEEN KUMAR	Male	B. Com./Commerce/III	Renewal	8	70	560	115	1772	1887	2447
1442689 DEEPESH KUMAR	Male	B. Com./Commerce/III	Renewal	9	70	630	115	1772	1887	25.17
1532846 PADMINI NOSURNAME	Female	B. Com./Commerce/III	Renewal	9	70	630	0	1772	1772	2402
754645 PADMINI PATEL	Female	B. Sc./Science/III	Renewal	8	70	560	0	1772	1772	2332
1306936 INDU SAHU	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1251046 AAMITYA KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1987	2447
1252951 KISHOR KUMAR VISHWAKARMA	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1253952 TARUN SINHA	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1255614 UMESH KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1259891 MONIKA NO SIRNAME	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2337
1370576 BHAGYASHRI KUMARI	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1271080 DEVID KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1276641 CHETAN LAL PATEL	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1276779 DHARMENDRA KUMAR PATEL	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1283189 HARISH CHAND SINHA	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
	A STATE OF THE PARTY OF THE PAR									

ation:

d that students studying in this institution are entitled for post matric scholarship and after thoroughly ex mining the scholarship applications included in the above proposal from o. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowan e and Phaya Co. tuition and other fees. Printed copy of online ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidal examples of Parents/Guardian from all sources of the ite have been kept safely in the office and will be subject to verification of competent authority. In case the applicant lightles in otherwise discontinue wife studies or accepts er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Principal

DondiLohara, Distt.Balod (C.G.)

nction Register for Scholarship

present of Chhottisgarh

Scholarship Scheme

Post Matric OBC Scholarship

OBC Category

Institute Name

Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19

Government of Chhattisgarh

Sanction Number:

R/8/5047/3/10/86941

Sanction Date

13/03/2019

Applications Type: Renewal

Nication ID Student Name	Gender	Course	Type	Ne. of Month		aintenence Tuit	tion Fee Oth	ier Fee	Total Fee Total	Amount
1284059 DIPANSHU HIRWANI	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1396129 Ku KUSUMLATA	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1330856 BISESARWA KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1340553 GAJENDRA KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1342371 KU DHANESHWARI	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1351991 ISHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
827557 SUMAN SAHU	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1427026 GAJANAND SAHU	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1375829 BHUSHAN LAL	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1381880 TULESHWARI KUMARI	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1382982 YOGITA NA	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1388509 DIKESHWARI DEWANGAN	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1389063 MUKESH KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1488417 RUKHENDRA KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1404956 NITESH KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1408317 MAHIMA KUMARI	Female	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1410231 CHHAYA RAWAT	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1414349 JAGGU RAM	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447

ation:

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from o. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowan e and Rs.as tuition and other fees. Printed copy of online ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual regard of Parents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves of the office and will be subject to verification of competent authority. In case the applicant leaves of the office and will be subject to verification of competent authority. er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend community to the period it is detected.

(Separature & Seal of Head of the ringuipadin) Name (Capital Leters) Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)



Scholarship Scheme Post Matric OBC Scholarship

> OBC Category

Aklavya College Doundilohara Distt.Balod Institute Name

Academic Year: 2018-19

Government of Chhadisgarh

Sanction Number

R/8/5047/3/10/86941

Sanction Date:

13/03/2019

Applications Type:

Renewal

								ppinoanons 17	po recito	(CECE)	
pplication ID	Student Name	Gender	Course	Type	No. of Month	THE MET RESIDENCE OF THE PARTY	ntenence Tur loweince	tion Fee Or	tier Fee	Total Fee	total America
1423435	RENUKA DEVI NOSURNAME	Female	B. A./Arts/II	Re iewal	8	70	560	0	1772	1772	2332
1353288	YOGESHWARI SAHU	Female	B. A./Arts/II	Re iewal	8	70	560	0	1772	1772	2332
1428239	KULESHWARI NOSURNAME	Female	B. A./Arts/III	Re iewal	8	70	560	0	1772	1772	2332
1430578	DHANESHWAR KUMAR SAHU	Male	B. A./Arts/II	Re newal	8	70	560	115	1772	1887	2447
1438190	DEEPAK KUMAR	Male	B. A./Arts/II	Re newal	8	70	560	115	1772	1887	2447
1441387	RUKHMANI NO SERNAME	Female	B. A./Arts/II	Re newal	8	70	560	0	1772	1772	2332
1483013	SUKRITA KARSEL	Female	B. A./Arts/III	Rr newal	8	70	560	0	1772	1772	2332
839199	SUMAN LAL SONWANI	Male	B. A./Arts/III	Ri newal	8	70	560	115	1772	1837	2447
1499466	VINAY KUMAR .	Male	B. A./Arts/III	Ri newal	8	.70	560	115	1772	1887	2447
937076	KHILESHWARI SAHU	Female	B. A./Arts/III	R newal	8	70	560	0	1772	1772	2332
1524228	THANESHWAR KUMAR SAHU	Male	B. A./Arts/III	R newal	8	70	560	115	1772	1887	2447
821235 [DHANESHWARI PATEL	Female	B. A./Arts/III	R newal	9	70	630	0	1772	1772	2402
1230074 H	HEMA NOSURNAME	Female	B. A./Arts/III	R :newal	8	70	560	0	1772	1772	2332
1326109 R	ZAJENDRA KUMAR	Male	B. A./Arts/II	R :newal	8	70	560	115	1772	1887	2447
1555499 H		Female	B. A./Arts/II	R :newal	8	70	560	0	1772	1772	2332
	ILESHWARI NOSURNAME	Female	B. A./Arts/III	R :newal	8	70	560	0	1772	1772	2332
	HARMIN NO SIRNAME	Female	B. A./Arts/III	F enewal	8	70	560	0	1772	1772	2332
	IRMILA NO SIRNAME		B. A./Arts/III	F anewal	8	70	560	0	1772	1772	

that students studying in this institution are entitled for post matric scholarsh and after thoroughly examining the scholarship applications included in the above proposal from . 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs. hip form attached with certified copy of mark sheet of passing last qualifying e am, caste certificate of candidate and annual means of Parents/Guardian from all sources of the the have been kept safely in the office and will be subject to verification of completent authority. In case the applicant leading to the period it is detected to the authority for eventual discontinuance of schools should be fact will be immediately reported to the authority for eventual discontinuance of schools should be fact will be immediately reported to the authority for eventual discontinuance of schools should be fact will be immediately reported to the authority for eventual discontinuance of schools should be fact will be immediately reported to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the authority for eventual discontinuance of schools should be subject to the subject to the authority for eventual discontinuance of schools should be r regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship in the scholarship in th

Signature & Seal of Head of the Institution) Principal

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

ALL THE HEALTH BELLEVILLE

13/03/2019

Scholarship Scheme Post Matric OBC Scholarship

> OBC Category

Aklavya College Doundilohara Distt.Balod Institute Name

Academic Year 2018-19

Government of Chhaltisgarh

Sanction Number

R/8/5047/3/10/86941

Sanction Date

Applications Type Renewal

cation ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Oth	er Fee T	otal Fee Tota	il Amount
723880	TOMESHWARI SAHU	Female	B. A./Arts/III	Renewal	8	70	CONTRACTOR OF THE PROPERTY OF	0	1772	1772	2332
1584955	REKHA KUMARI	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1283934	DEEPAK KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
844572	NARAYAN SINGH SINHA	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1259039	SOMIT KUMAR PATEL	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1594739	SADHANA BAI	Female	B. A./Arts/II	Renewal	8	. 70	560	0	1772	1772	2332
1279880	VASHUKI NOSURNAME	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1562648	HEMLATA NOSURNAME	Female	B. A./Arts/III	Renewal	8	70	56	0	1772	1772	2332
1587605	DOMESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	, 8	70	56	0 0	1772	1772	2332
1251359	MAMATA KUMARI	Female	B. A./Arts/III	Renewal	8	70	56	0 0	1772	1772	2332
	YOGITA NO	Female	B. A./Arts/II	Renewal	8	70	56	0 0	1772	1772	2332
	VENU KUMAR	Male	B. A./Arts/II	Renewal	8	7	0 56	0 115	1772	1887	2447
	MADAN LAL	Male	B. A./Arts/II	Renewal	8	7	0 56	0 115	1772	1887	2447
	MANOJ KUMAR NOSURNAME	Male	B. A./Arts/II	Renewal	8	7	0 56	0 115	1772	1887	2447
) MADHAVI KUMARI NO SURNAME	Female	B. A./Arts/III	Renewal	8		0 56		1772	1772	2332
1576685	POONAM YADAV	Female	B. A./Arts/II	Renewal	3			50 0	1772	1772	2402
The state of the state of	ROHINI SAHU	Female	B. A./Arts/II	Renewal) 7	70 6.	30 0	1//2	1772	

d that students studying in this institution are entitled for post matric schola ship and after thoroughly examining the scholarship applications included in the above proposal from o. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ship form attached with certified copy of mark sheet of passing last qualifyin exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leave the applicant leave the office and will be subject to verification of competent authority. In case the applicant leave the applicant leave the office and will be subject to verification of competent authority. In case the applicant leave the office and will be subject to verification of competent authority. ste have been kept safely in the office and will be subject to verification of competent authority. In each steep safely in the office and will be subject to verification of competent authority. In each safely safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely in the office and will be subject to verification of competent authority. In each safely safely in the office and will be immediately reported to the authority for eventual discontinuance of scholars are regular scholars and the office and the of

Seal of Head of the Institution) Principal anital Leters)

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

ction Negister for Scholarship

nment of Chhottisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



Government of Chhattisgarh

Sanction Number R/8/

R/8/5047/3/10/86941

Sanction Date: 13/03/2019

Applications Type: Renewal

cation ID Student Name	Gender	Course	Type	No. of	Rate Ma	aintenence T	uition Fee	Other Fee	Total Fee	
		EX LANGUAGE		Month		Illowance			Total Fee	Total Amount
1574874 MAHESH KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1569986 SEEMA NOSURNAME	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1412622 DHANESHWARI NO SIRNAME	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1381108 KOMESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1395822 PARVATI NO SURNAME	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1296547 NEELAM SAHU	Female	B. A./Arts/III	Renewal	8	70	560	0	1772	1772	2332
1527170 HARISH KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1420592 MANOJ KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1488402 SURENDRA KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1389815 BHAGBATI NOSURNAME	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1399196 PANKAJ KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1538997 YAMINI YAARDA	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1408367 TARANI KUMARI	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1429464 POOJA SAHU	Female	B. A./Arts/II	Renewal	8	70	560	0	1772	1772	2332
1501595 BHUPESH KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1489900 HEMANT KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447
1512885 HEMCHAND SINHA	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1502365 SEEMAN KUMAR	Male	B. A./Arts/II	Renewal	8	70	560	115	1772	1887	2447

ration:

हां gnature & Seal of Head oPtinoiptatution)

Govt.Eklavya Collage

DondiLohara,Distt.Balod (C.G.)

ction Register for Scholarship

mment of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category: OBC

Institute Name : Aklavya College Doundilohara Distt Balod

Academic Year: 2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/3/10/86941

Sanction Date

13/03/2019

Applications Type

Renewal

cation ID Student Name	Gende	Course	Туре	No. of	Rate M.	amtenence T	uition Fee 0	ther Fee	otal Fee T	otal Lincont
1427082 RIKHI RAM	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
1501872 UPENDRA KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1772	1887	2447
					Total:	84470	7130	248895	256025	340495

ation:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the local students of the local students

Dandi Lahara, Dist. - Balad

Principal
Govt.Eklavya Collage
DondiLohara, Distr.Balod (C.G.)

ernment of Chhattisgarh

18F4 401 40 101 103 103 10 10

23/03/2019

Post Matric OBC Scholarship Scholarship Scheme

> OBC Category

Aklavya College Doundilohara Distt.Balod Institute Name

2018-19 Academic Year

State

Government of Chhattisgarh

Sanction Number

R/8/5047/3/10/89026

Sanction Date

Applications Type Renewal

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1440105	PREETILATA NOSURNAME	Female	B. Sc./Science/II	Renewal	8	70	560	0	1772	1772	2332
						Total:	560	0	1772	1772	2332

ion:

hat students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves to the office and will be subject to verification of competent authority. In case the applicant leaves to the office and will be subject to verification of competent authority. egular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.

Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

tion Register for Scholarship

ment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State

Government of Chhattisgarh

Sanction Number

N/8/5047/1/9/86808

Sanction Date

27/03/2019

tion ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
722339 SAJAN KUMAR TANDAN	Male	M. A./Pol. Science/I	Fresh	9	530	Allowance				Total Amount
1435127 JIGYASU DESHLAHRE	Male	M. A./Pol. Science/I	Fresh	8		4770	0	1190	1190	5960
1443784 SANDHYA MESHRAM	Female	M. A./Hindi/I	Fresh		530	4240	0	1190	1190	5430
1494537 KANCHAN DESHLAHRE	Female	B. Sc./Science/I	Fresh	9	530	4770	0	1190	1190	5960
1498679 AMRITA NOSURNAME	Female	B. Sc./Science/I		9	300	2700	0	1792	1792	4492
1505543 VANDANA NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	the state of the s
1505647 SURESH KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	The state of the s
1505679 DEEPIKA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	
1505693 KIRAN NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	the second second second
1519095 DEVNTEEN NOSURNAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1792	1792	17.52
1519372 MANISHA JAGNAYAK	Female	the same of the sa	Fresh	10	300	3000	0	1772	1772	4772
1523962 HOMANSHU NOSURNAME		B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	
1531329 POOJA KHARE		B. A./Arts/I	Fresh	8	300	2400	0	1772	1772	4772
1539520 DHEERAJ MAHESHWARI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4172
1544624 RUPESH KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772		4772
1551919 AKASH KUMAR RAJETRI	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1555348 AMIT CHOURE	Male	B. Com./Commerce/I	Fresh	10	300	3000	0		1772	4472
-2000 MILLI CHOOKE	Male	B. A./Arts/I	Fresh	10	300	3000		1772	1772	4772
ion :						3000	0	1772	1772	4772

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

ction Register for Scholarship

nment of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme

Category

SC

Aklavya College Doundilohara Distt.Balod Institute Name

2018-19 Academic Year

Government of Chhattisgarh

Sanction Number

N/8/5047/1/9/86808

Sanction Date

27/03/2019

Applications Type

Fresh

lication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1563432	KAJAL NOSIRNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	4792
1571358	KARAN KUMAR KAMDE	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1586946	ROMIN BANJARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1777	4472
1589256	HIRENDRA KUMAR GAYAKWAD	Male	B. A./Arts/I	Fresh	10	300	3000		1772	177	
						Total:	64780) (35606	3560	6 10038

laration:

ified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online plarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the didate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.

Senature & Seal of Head of the Institution)
Sylame (Capital Leters): Principal

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

ction Register for Scholarship

rnment of Chhattisgarh

Scholarship Scheme

Post Matric SC Scholarship

Category:

sc sc

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/1/9/86846

Sanction Date :

27/03/2019

Applications Type

Renewal

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
430222	RASHMI GANDA	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
821157	PRATIMA DESHLAHARE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
825837	KAVITA MALEKAR	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1792	1792	4192
833854	Damini Jangde	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1167104	DOMENDRA NOSIRNAME	Male	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
1202053	BALAKDAS GENDRE	Male	B. Com./Commerce/III	Renewal	9	300	2700	0	1772	1772	4472
1222610	LIKESH KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	
1263852	BHUPENDRA KUMAR NOSURNAME	Male	B. Sc./Science/III	Renewal	9	300	2700	0	1792	1792	
	CHIKLESHWARI AMDO	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	
1341179	DILESHWARI AMDO	Female	M. A./Hindi/II	Renewal	9	530	4770	0	1190	1190	5960
1341180	ATUL KUMAR	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192
9	DHANRAJ NO SIRNAME	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
	BHUPESH NOSURNAME	Male	M. A./Hindi/III	Renewal	9	530	4770	0	1075	1075	5845
and the state of the state of the	CHANDRAKANTA JOSHI	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192
	SURYAKANT KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1777	4172
transporting and a	ATISH KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	177.	4172
the state of the state of the	olly Barman	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1792	179	2 4192

ation:

मत्यमें Sign stirle & Seal of Head of the Iristincipa

Novine (Capital Leters): Govt.Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

neernment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/1/9/86846

Sanction Date

27/03/2019

Applications Type

Renewal

					,,,,							
lication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount	
1439232	RANJANA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	4172	
	ASHUTHOSH KUMAR RAJETRI	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192	
1498536	KHILESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	8	300	2400) (1772	1777	4172	
1507253	NEHA GAYAKWAD	Female	B. Sc./Science/II	Renewal	8	300	2400) (0 1797	2 179	2 4192	
1512539	GHANENDRA KUMAR MALEKAR	Male	B. Sc./Science/II	Renewal	8	300	240	0	0 179	2 179	2 4192	
1518213	RAKESH KUMAR JAGNAYAK	Male	B. A./Arts/II	Renewal	10	300	300	0	0 177	2 17	2 4772	
1523997 F	PRAVEEN KUMAR NOSURNAME	Male	B. A./Arts/II	Renewal	8	300	240	0	0 17	72 17	72 417.	
1529262 H	CARAN KUMAR	Male	B. Sc./Science/II	Renewal	8	30	0 240	00	0 17	92 17	92 419	
	DAMESHWARI TANDAN	Female	B. Sc./Science/II	Renewal	8	30	0 24	00	0 17	792 1	792 419	
	ARSHA MESHRAM	Female	B. Sc./Science/II	Renewal	8	30	0 24	00	0 1	792 1	792 41	
Ser many of the						Total	: 754	80	0 45	391 45	391 1208	

tion:

Signature & Seal of Head of the Institution)

Govt.Eklavya Collage

DondiLohara,Distt.Balod (C.G.)

tion Register for Scholarship

nment of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: N/8/5047/2/7/86802

Sanction Date : 27/03/2019

Applications Type: Fresh

plicati	on ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	122608	HEMENDRA KUMAR THAKUR	Male	M. A./History/I	Fresh	9	530	4770	0	1190	1190	5960
	675077	SONIYA PISDA	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	5960
	685887	REEMA TEKAM	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	5960
	715538	BHUNESHWARI KUMARI	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	5960
	733577	JHAMIT KUNWAR RATRE	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	5960
	737746	DAMIN KUMARI	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	596
	863038	RAVINDRA KUMAR KOSMA	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	596
	1007823	RAMDAS THAKUR	Male	M. A./History/I	Fresh	9	500	4500	0	1190	1190	569
	1144320	LAV KUMAR DEVHARI	Male	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	
	1153367	MEENESHWARI NO SARNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	
	1161967	ANUSUIYA NARENDRA	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	
	1166234	DOMESHWARI NOSIRNAME	Female	M. A./Economics/I	Fresh	9	530	4770	0	1190	1190	
	1170558	TIKESHWARI NOSIRNAME	Female	M. A./Hindi/I	Fresh	10	530	5300	0	1190	1190	
		S VED KUMAR	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	
		7 SUMAN THAKUR	Female	M. A./Economics/I	Fresh	9	530	4770) 0	1190	1190	
		LATA KUMARI NO SURNAME	Female	M. A./Pol. Science/I	Fresh	9	530	4770) 0	1190	119	
		NARENDRA KUMAR	Male	M. A./Hindi/I	Fresh	9	530	4770	0	1190	119	59

claration:

tified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from all no. 1 to _____ I do here by sanctioning a sum of Rs. ______ Out of which Rs. _____ as maintenance allowance and Rs. _____ as the long other fees. Printed copy of online oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal from all sources of the oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal from all sources of the oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal from all sources of the oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal from all sources of the oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal from all sources of the oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal from all sources of the oldership form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual proposal form at a sheet of passing last qualifying exam, caste certificate of candidate and annual proposal form at a sheet of passing last qualifying exam, caste certificate of candidate and annual proposal form at a sheet of passing last qualifying exam, caste certificate of candidate and annual proposal form at a sheet of passing last qualifying exam, caste certificate of candidate and annual proposal form at a sheet of passing last qualifying exam, caste certificate of candidate and annual proposal form at a sheet of passing last qualifying exam,

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

ction Register for Scholarship

mment of Chhattisoarh

Scholarship Scheme: Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19



Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

Sanction Date 27/03/2019

Applications Type: Fresh

plication ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1370184	TAMESHWAR LAL NO SURNAME	Male	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	5960
1410977	YOGESH KUMAR	Male	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	5960
1476223	DUMESHWARI NETAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1477413	THANESH KUMAR	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	4772
1479583	DAMESH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1479956	JANTRI NAYAK	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	4772
1482608	SHEETAL KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1483819	RAJESHWARI NETAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1486287	KHEMLATA THAKUR	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1486754	BHUPENDRA KUMAR KOSMA	Male	B. A./Arts/I	Fresh	7	300	2100	0	1772	1772	3872
1487852	TOMIN NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1488385	SOMIN NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1488398	GAUKARAN NOSURNAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1488891	KAILESHWARI PATEL	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1489095	KAMNI KOTHARI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1490343	JYOTI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1490369	LEELA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1490882	DIVYA ARYA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	4792

aration:

ied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. as tuiton and other fees. Printed copy of online date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution of the vise discontinues the studies or accepts the regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship will be immediately reported to the authority for eventual discontinuance of scholarship will be immediately reported to the authority for eventual discontinuance of scholarship will be immediately reported to the authority for eventual discontinuance of scholarship will be immediately reported to the authority for eventual discontinuance of scholarship will be immediately eventual discontinuance of scholarship will be immedia

Principal Govt.Eklavya Collage DondiLohara, Distt. Balod (C.G.)

nction Register for Scholarship

ernment of Chhattisgarh

Scholarship Scheme

Institute Name

Post Matric ST Scholarship

Category

Aklavya College Doundilohara Distt.Balod

Academic Year : 2018-19

Government of Chhattisgam

Sanction Number

N/8/5047/2/7/86802

Sanction Date

27/03/2019

Student No.									1019	
ocudent Name	Gender	Course					Applications Typ	e: Fresh		
KOMAL SINGH	Mala		Туре		Rate		Tuition Fee Ott	ner Fee	Total Fee	Total Amount
	the same of the sa		Fresh		300					our amount
		B. Sc./Science/I	Fresh				the second second		1772	4472
	Female	B. Com./Commerce/I	Fresh	14			and the same of the same	1792	1792	4492
	Female	B. Com./Commerce/I	Fresh				tring typyrok toler is	1772	1772	4772
	Female	B. A./Arts/I				100 101 100 1	0	1772	1772	4472
	Female	B. A./Arts/I					0	1772	1772	4772
GIRJA KHARE	Female	B. A./Arts/I					0	1772	1772	4772
CAUSHAL KUMAR	Male					3000	0	1772	1772	4772
SAJENDRA KUMAR	Male					2700	0	1772	1772	4472
HAMELI NOSURNAME		and the second s				3000	0	1772	1772	4772
	-				300	2700	0	1772	1772	4472
		the second second		8	300	2400	0	1772	1772	4172
		Street of the second of the second	Fresh	10	300	3000	0	1772	1772	4772
	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1777	2 4772
	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	177	2 4772
GESHWARI RANA	Female	B. Sc./Science/I	Fresh	10	300	300	0 0	1792	179	2 4792
NOU NOSURNAME	Female	B. A./Arts/I	Fresh	10	300		No the second			
UPENDRA KOMA	Male	B. A./Arts/I	Fresh	8	300	240	0 0			produce over the market b
ANDNI NAYAK	Female	B. A./Arts/I	Fresh	10	300	300	0 0	1772	177	72 4777
	KOMAL SINGH OMAN SINGH KIRAN KOSMA SULOCHANA DUGGA SHRADDHA BARSEL NEELAM THAKUR SIRJA KHARE AUSHAL KUMAR HAMELI NOSURNAME HUSHBU NOSURNAME RATIBHA NOSURNAME RATIBHA NOSURNAME RATIBHA NOSURNAME OGESH SINH GESHWARI RANA NJU NOSURNAME	KOMAL SINGH OMAN SINGH Male KIRAN KOSMA SULOCHANA DUGGA SHRADDHA BARSEL MEELAM THAKUR SIRJA KHARE Male Male Male Male Male MEELAM THAKUR Female Male Male Male Male Male Male Male M	KOMAL SINGH Male Male Male Male Male Male Male Male	KOMAL SINGH Male Male B. A./Arts/I Fresh Male B. Sc./Science/I Fresh KIRAN KOSMA Female B. Com./Commerce/I Fresh SULOCHANA DUGGA Female B. Com./Commerce/I Fresh F	KOMAL SINGH Male B. A./Arts/I Fresh OMAN SINGH Male B. Sc./Science/I Fresh Pemale B. Com./Commerce/I Fresh Pemale B. Com./Commerce/I Fresh Pemale B. A./Arts/I Fresh Pemale B. Com./Commerce/I Fresh Pemale B. A./Arts/I Fresh Pemale B. Com./Commerce/I Fresh Pemale B. Com./Co	KOMAL SINGH Male B. A./Arts/I Fresh 9 300 KOMAN SINGH Male B. Sc./Science/I Fresh 9 300 KIRAN KOSMA Female B. Com./Commerce/I Fresh 10 300 SULOCHANA DUGGA Female B. Com./Commerce/I Fresh 9 300 SHRADDHA BARSEL Female B. A./Arts/I Fresh 10 300 SAUSHARA KUMAR Male B. A./Arts/I Fresh 10 300	Course Type No. of Rate Maintenence Allowance Maintenence Month Male B. A./Arts/I Fresh 9 300 2700	No. of N	Student Name Gender Course Type No. of Month Rate Maintenence Allowance Male B. A./Arts/I Fresh 9 300 2700 0 1772	Course Type No. of Rate Maintainence Tuition Fee Other Fee Total Fee Month No. of Month No. of Month Male Month No. of Month No. of Month Mole No. of No. of Month Mole No. of Month No. of Month Mole No. of Month Mole No. of No. of Month Mole No. of Month Mole No. of Month Mole No. of No. of No. of Month Mole No. of No

ion:

to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.or form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and around one of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant verification or otherwise discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is deflected pal Govt. Eklavya Co Govt. Eklavya Collage

DondiLohara, Distt. Balod (C.G.)

action Register for Scholarship

resimment of Orhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

institute Name Aklavya College Doundilohara Disti.Balod

Academic Year 2018-19



State

Government of Chinattisgath

Sanction Number: N/8/5047/2/7/86802

Sanction Date 27/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1508932	DOLESHWARI THAKUR	Female	B. Sc./Science/I	Fresh	Month 10	300	Allowance 3000	0	1792	1792	4792
614420	PREMPRAKASH NAYAK	Male	M. A./History/I	Fresh	9	530	4770	0	1190	1190	
679292	Sonali Ratre	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	
714877	MANOJ KUMAR DHANGUN	Male	M. A./History/I	Fresh	9	530	4770	0	1190		and the second second
733285	TIKESHWARI THAKUR	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	5960
734490	JITTENDRA KLIMAR RANA	Male	M. A./Economics/I	Fresh	9	530	4770	0	1190	1190	5960
1498000	NERUPA NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	4772
862220	RITU NOSIRNAME	Female	M. A./Pal. Science/I	Fresh	9	530	4770	0	1190	1190	5960
1145424	DAMIN NO SERNAME	Female	M. A./Pal. Science/I	Fresh	9	530	4770	0	1190	1190	0 5960
952982	HARSCHAND TARAM	Male	M. A./Economics/I	Fresh	9	530	4770	0	1190	119	0 5960
1124267 1	WARENDRA KUMAR	Male	M. A./Hindi/I	Fresh	9	530	4770	0	1190	119	0 5960
1170514 8	DAMESHWARI NOSIRNAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	119	0 5960
1161495 T	IKESHWARI KUMARI	Female	M. A./Pal. Science/I	Fresh	9	530	4770	0 0	1190	119	0 596
1345271 3	ANKI KUMARI NOSURNAME	Female	M. A./Economics/I	Fresh	9	530	477	0	119	0 119	90 596
1163848 S	UNITA NOSIRNAME	Female	M. A./Pol. Science/I	Fresh	9	530	477	0 0	119	0 115	90 596
1202774 G	OVIND RAM	Male	M. A./History/I	Fresh	9	530	477	0 0	119	0 119	90 596
1479876 JY	OTI DHURWE	Female	B. A./Arts/III	Fresh	8	300	240	0 (177	2 17	72 417
1476764 9	SHEEL KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	270	0 (177	2 17	72 44

aration:

led that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from her regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.

Principal Govt.Eklavya Collage DondiLohara, Distt.Balod (C.G.)

Scholarship Scheme

Post Matric ST Scholarship

Category

Aklavya College Doundilohara Distt.Balod

Academic Year:

Institute Name

2018-19

Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

Sanction Date

27/03/2019

oplication ID	Student Name	Gender						Applications Type	Fresi	h	
		Gender	Course	Туре	No. of		aintenence	Tuition Fee Othe	er Fee	Total Fee	Total Amount
	MAHIMA KRIPAL	Female	B. Com./Commerce/I	Fresh	Month		Allowance				
	GAYATRI JAMDAR	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	4772
1495883	BHUMIKA KOSMA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1494377	TARUN KUMAR NETAM	Male	B. A./Arts/I	Fresh	10	300 300	3000	0	1772	1772	the second of the second
1488409 F	POOJA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000 3000	0	1772	1772	Contract of the state of the st
1499005 E	BHUPENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1772		process of the second
1496133 K	CAVITA GANWRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	American Control of	Processing and the same
1490984 G	GOVINDA NOSURNAME	Male	B. Sc./Science/I	Fresh	9	300	2700	and the second of the second	1792		the second state of the second
1498691 K	AUSHAL KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	to the same of the same	1772		Andrew Verlage on The Land
1492298 IQ	QBAL NOSURNAME	Male	B. A./Arts/I	Fresh	10	300	3000		1772	A control branch	
1507416 NI	IKHIL RANA	Male	B. Sc. (Hons.)/Biology/I	Fresh	10	300	3000	Samuel Sa	1792		
1512409 MA	ANISHA KHARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	177		
1505580 PR	EETI NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	179	2 179	92 4792
1510254 DE	EPCHAND RANA	Male	B. A./Arts/I	Fresh	8	300	2400	0	177	2 17	72 4172
1508784 AGE	ESHWARI GHAWDE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	179	2 17	92 4492
1493743 MOI	HINEE KOSMA	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	177	2 17	72 4472
1508442 HAS	SEENA KOMA	Female	B. A./Arts/I	Fresh	9	300	2700	0	177	72 17	772 4477
1510462 LALI	TA KRISHAN	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	177	72 17	772 447.

on:

nat students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as continuous and other fees. Printed copy of online form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual process of certification of competent authority. In case the applicant leaves instituted of certification of competent authority. In case the applicant leaves instituted of certification of certification of competent authority. In case the applicant leaves instituted of certification of cer

Principal Govt. Eklavya Collage DondiLohara Distt Balod (C.G.)

tion Register for Scholarship

ment of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name

Aklavya College Doundilohara Distt.Balod

Academic Year

2018-19



State

Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/96802

Sanction Date

27/03/2019

cation ID	Student Name						Applic	cations Type	Fresh		
	The second second	Gender	Course	Туре		Total Control of the	intenence Tuition	Fee Other	Fee Total I	Fee Total An	Bount
and the same of the	AJAY SINGH NOSURNAME	Male	M. A./Economics/I	Fresh	Month 9	530	Howance 4770	0	1100	1405	
1480472	RAHUL KUMAR	Male	B. Com./Commerce/I	Fresh		300	2700	0	1190	1190	5960
1349837	HEMLATA NO SURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1772	1772	4472
1478339	DEVENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1772	1792	4492
1363997	KHEM RAWTE	Male	M. A./Economics/I	Fresh	10	530	5300	0	1190	1190	4772 6490
1386956	HEENA NO SIRNAME	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1190	1190	5960
1488379	RENUKA NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	4492
1488987	DEEPIKA KOSMA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1487283	GAYTREE KULARYA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	4492
1411990	MORAJ KUMAR	Male	M. A./History/I	Fresh	9	530	4770	0	1190	1190	5960
1488388	REENA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1482675	ABHISHEK KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	4792
1490362	DILESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1489418	BHOLA RAM	Male	B. Sc. (Hons.)/Biology/I	Fresh	9	300	2700	0	1792	1792	4492
1485811	PIREET KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	4492
1497938	CHANDRA SHEKHAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1490730	SURENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4777
1492399	KHEM NARAYAN	Male	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	447

tion:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as taking and other fees. Printed copy of online ip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual company parents/Guardian from all sources of the poppor otherwise discontinues the studies or accepts e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leading regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship ship period it is detected Principal

(Signature & Seal of (Geod. 5klisheyar@blushen)

DondiLohara, Distt.Balod (C.G.)

ster for Scholarship

tisgarh

olarship Scheme Post Matric ST Scholarship

Category

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State

Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

Sanction Date

27/03/2019

Applications Type

Fresh

Application ID	Student Name	Gender	er Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
					10	300	3000	0	1772	1772	4772
8 1498216	RAMESHWAR NOSURNAME	Male	B. Com./Commerce/I	Fresh		300	2000	0	1772	1772	4772
1512635	AMBALIKA PISDA	Female	B. A./Arts/I	Fresh	10	300		The same of the party of the same of the same of	1772	1772	4772
1512566	VIJAY KUMAR	Male	B. A./Arts/I	Fresh	10			and the second second second second second	1772	1772	4772
1514533	KALPANA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300			0 1772		4772
1515565	LAXMI DEVI	Female	B. A./Arts/I	Fresh	10	300	and the second s	and property or the special sp			The same was a second
1515830 7	THANESHWARI NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300			0 1792	Aller State of the	grapher of a first order
1512423 N	NANDINI RAWTE	Female	B. A./Arts/I	Fresh	9	300	2700) (0 1772		The same and the same and the
make a second and the	IEETA RAWTE	Female	B. A./Arts/I	Fresh	9	300	2700	0 (0 1772		The second of the second of
etal stop on the	RIYANKA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0 (0 1772	2 1777	
property and a second second	JGESHWARI KERAM	Female	B. Sc./Science/I	Fresh	9	300	270	0 (0 1792	2 179	
Andrew Commence of the commence of	INAINA THAKUR	Female	B. Sc. (Hons.)/Biology/I	Fresh	10	300	300	0	0 1792	2 179	
1515638 YAL	angle for the control of the control	Male	B. A./Arts/I	Fresh	9	300	270	0	0 1777	2 177	72 4472
ter early median and a high of part.	EETI NOSURNAME	Acres de la companya del companya de la companya del companya de la companya de l	B. A./Arts/I	Fresh	10	300	300	10	0 1777	2 177	72 4772
hat the minimum on the second			B. Sc./Science/I	Fresh	9	300	270	10	0 179	2 179	92 4492
1515838 OM	KAR NOSURNAME	Male 8	B. Com./Commerce/I	Fresh	9	300	270	10	0 177	2 17	772 4472
1515667 SHA	ILESH NOSURNAME	Female B	B. Sc./Science/I	Fresh	10	300	300	00	0 179	2 17	792 4792
1526364 KHIL	ESHWAR SINGH		B. Com./Commerce/I	Fresh	9	300	270	00	0 177	/2 17	772 4477
1522079 KAPO	OR CHAND		B. A./Arts/I	Fresh	10	300	300	00	0 177	12 1	772 477

on:

at students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual incompatible cents/Guardian from all sources of the eve been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves in the office and will be subject to verification of competent authority. In case the applicant leaves in the office and will be subject to verification of competent authority. gular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the period it is detected.

> Principal Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)



Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name Aktavya College Doundilohara Distt.Balod 2018-19

Academic Year

Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

Sanction Date

27/03/2019

plication ID	Student Name							Applications 7	Type: Fre	sh	
1524069		Gender	Course	Туре	No. of	Rate		Tuition Fee	Other Fee	Total Fee	Total Amount
1524068	ROSHAN KUMAR KANWAR	Male	B. A./Arts/I	Fresh	Month	200	Allowance				
	YAMINI NOSURNAME	Female	B. Sc./Science/I		9	300	2700	0	1772		4472
	MORAJDHWAJ MANDAVI	Male	B. A./Arts/I	Fresh	9	300	2700	0	1792		4492
1498713 R	RITESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1777	1772	4772
	SANGLESH NO	Female		Fresh	10	300	3000	0	177	1772	4772
1522837 D	DEVPRASAD RAWTE	Male	B. A./Arts/I	Fresh	10	300	3000	0	177	2 1772	4772
	DEVENDRA NOSURNAME		M. A./Hindi/I	Fresh	9	530	4770	0	119	0 1190	5960
	OMATI NA	Male	B. A./Arts/I	Fresh	10	300	3000	0	177	2 1772	4772
	HAGWATI NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	179	2 1792	4792
		Female	B. Sc./Science/I	Fresh	9	300	2700	0	179	2 1792	The second second second
	OTI GOTAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	17		A CONTRACTOR OF THE PROPERTY OF
	OSHAN LAL	Male	B. Sc./Science/I	Fresh	10	300	3000	0		military	
	TAMBAR LAL	Male	B. A./Arts/I	Fresh	10	300	3000	A-1-		The second second	Sugar Security Security Security
1534786 PR	REMCHAND BHANDARI	Male	B. A./Arts/I	Fresh	10	300					and the second second
1522384 CH	HANDRIKA NAYAK	Female	B. A./Arts/I	Fresh	10	300	and the second second second second			72 177	
1534835 HI	MA RANA	Female	B. A./Arts/I	Fresh	10		Andrew Commencer Commencer		-	72 177	72 477.
1525019 SU	NITA KOTPARIYA	Female	B. A./Arts/I			300		A) 17	772 17	72 477
	MENDRA KUMAR	Male	the second second	Fresh	9	300	270	0 (17	792 17	92 449
			B. A./Arts/I	Fresh	9	300	270	0 (1	772 17	72 447
1312340 UIN	NDAYAL NOSURNAME	Male	B. A./Arts/I	Fresh	10	300	300	0	0 1	772 17	772 47

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution are discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the period it is detected.

> Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

-- ioiarship

mment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name

Aklavya College Doundilohara Distt.Balod

Academic Year : 2018-19



Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

cation ID	Student Name	Gender						Sanction		3/2019 h	
1543401	BHOLA RAM		Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1570052	SARITA NOSURNAME	Male	B. Com./Commerce/I	Fresh	10	300	Allowance 3000				
1552431	TIKENDRA KUMAR	Female	M. A./Pol. Science/II	Fresh	9	530		0		1772	4772
	NANKI NO SURNAME	Male	B. A./Arts/I	Fresh	10	300	4770		1075	1075	5845
		Female	B. A./Arts/I	Fresh	10	300	3000		1//2	1772	4772
	KIRTIBALA NOSURNAME	Female	B. Sc./Science/I	Fresh	8		3000			1772	4772
	GEETA GAVRE	Female	B. A./Arts/I	Fresh	-	300	2400		27.52	1792	4192
	PAWAN KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	Annual Control of the	1772	1772	4472
1578623	SUMAN KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	de la companya de la	1772	1772	4477
1554640	REEMA HIDKO	Female	B. A./Arts/I		10	300	3000	0	1792	1792	479
1581227	RUPALI RANA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1772	1772	4477
1567382	LAXMI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1792	1792	4492
	YASHWANT KUMAR	Male	the state of the s	Fresh	10	300	3000	0	1772	1772	477
Marie Company	JAYSHRI NOSURNAME		B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	447
	HUMESHWARI NOSURNAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	477
	And the contract of the contra	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	
	TOMESHWARI THAKUR	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1772		The second second second
	CHHAGAN LAL	Male	B. A./Arts/I	Fresh	9	300	2700	0			and the same of the same of
1579108	KUMLESHWARI NETAM	Female	B. A./Arts/I	Fresh	10	300					and the same special appropriate to the same of
1596650	VEDIKA THAKUR	Female	B. A./Arts/I	Fresh	10	300	promise pale in expression assured	A Commence of the Commence of	form or a series of the second	freezen abezario en esper	and the second second second second second

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annually comparents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leave of stitution of elements of the studies of accepts er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected Principal

Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

egister for Scholarship

of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: S

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State:

Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

Sanction Date:

27/03/2019

Applications Type: Fresh

ication ID	Student Name							Аррисацоп	s type . Thes		
		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1543424	CHOMESHWAR LAL	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1502003	RAGHUVIR KHARE	Male	B. A./Arts/I	Fresh	10	300	3000		1772	1772	4772
1543497	ANJLIKA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000		1772	1772	4772
1543229	MALESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000		1772	1772	4772
1543477	TOMESHWARI SHIVNA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1533662	HASEENA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1552320	SOMAN LAL	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1517633	JAGESHWARI NOSIRNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	4492
1545352	YAMINI BHANDARI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1529154	AARTI NOSIRNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1544236	SATRUPA THAKUR	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	4492
1554130	ARJUN SINGH	Male	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1535840	BHUWAN LAL	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1772	1772	4772
1543591	GUPENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1792	1792	4492
1543888 F	PADMAWATI NOSURNAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1792	1792	4792
1558112 0	CHANDANI PRADHAN	Female	M. A./Hindi/I	Fresh	9	530	4770	0	1190	1190	5960
1543203 C	CHIRANJEEV NOSURNAME	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1772	1772	4472
1562817 B	HUVAN LAL	Male	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772

tion:

स्थानेव प्रयोगिक ure & Seal of Head of the lostitution)

Govt.Eklavya Collage

DondiLohara,Distt.Balod (C.G.)

coon Register for Scholarship

ment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19



State

Government of Chhattisgarh

Sanction Number

N/8/5047/2/7/86802

Sanction Date

27/03/2019

lication ID	Student Name	Gende						Application	s Type : Free	pr 1	
			Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
	YOGESHWARI BHUARAYA	Female	B. A./Arts/I	Fresh	9	300	Allowance 2700	0	1772	1773	
1595018	BHUMIKA THAKUR	Female	B. Sc./Science/I	Fresh	9	300	2700	0		1772	4472
1594467	KUMARI KHILESHWARI	Female	B. Sc./Science/I	Fresh	10	300	3000		1792	1792	4492
1592692	NEELAM RAVTE	Female	B. Sc./Science/I	Fresh	10	300		0	1792	1792	4792
1594241	NAMRATA RANA	Female	B. Sc./Science/I	Fresh	9	300	3000	0	1792	1792	4792
1595610	PUNITA NO	Female	B. A./Arts/I	Fresh	9	300	2700	0	1792	1792	4492
1594373	DUMESHWARI GORE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1596352	PURNIMA RAWTE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1572131	CHAMELI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1601956	NEHA NO	Female	B. A./Arts/I	Fresh	10	300	2700	0	1772	1772	4472
1598946	KAMLA BHUARYA	Female	B. A./Arts/I	Fresh	9	· · · · · · · · · · · · · · · · · · ·	3000	0	1772	1772	4772
1594635	LILESH RAWTE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1772	1772	4472
1590406	NUTAN KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1772	1772	4472
	KANCHAN NOSURNAME	Female	B. A./Arts/I	Fresh		300	2700	0	1792	1792	4492
1599660	SANDHYA NOSURNAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
1566742	NEHA NOSURNAME		B. A./Arts/I	Fresh	10	300	3000	0	1772	1772	4772
and the same of th	YASHODA THAKUR		M. A./Pol. Science/I		10	300	3000	0	1772	1772	4772
manifer the grant	SANTOSHI URWASHA		B. Sc./Science/I	Fresh	9	530	4770	0	1190	1190	5960
		. Citiale	o. sc/sdelice/I	Fresh	8	300	2400	0	1792	1792	4192

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from o. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of anti-scope of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution of grants continues the studies or accepts er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipenessipen

> Principal Govt.Eklavya Collage DondiLohara, Distt.Balod (C.G.)

tion Register for Scholarship

ment of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State

Government of Chinattisgam

Sanction Number

Applications Type

640960

0

N/8/5047/2/7/86802

Sanction Date

27/03/2019

Fresh

325867

325867

966827

t students studying in this institution are entitled for noct matric scholambia.

Total:

Principal Govt.Eklavya Collage DondiLohara, Distt. Balod (C.G.)

ction Register for Scholarship

rnment of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name

Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date

27/03/2019

Applications Type: Renewal

lication ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
		在25 年4月			Month		Allowance				Total Amount
116470	Geeta kumari	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
122591	SHIV KUMAR THAKUR	Male	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
221765	JYOTI DEVI KHARCHAL	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
330076	Beerendra Kumar Thakur	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
392297	LAXMI NO SERNEM	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
392387	LEENA NO SERNEM	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
427840	YOGESH KUMAR	Male	M. A./Economics/II	Renewal	9	530	4770	0	1075	1075	5845
499164	KAVITA NO	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
669066	KAVITA HALBA	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
717745	KHOMIN KUMARI	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192
748568	HEMANT KUMAR NO SERNEM	Male	M. A./Economics/II	Renewal	9	530	4770	0	1075	1075	5845
820728	MONIKA PRADHAN	Female	B. A./Arts/III	Renewal	8	300	2400	C	1772	1772	4172
820743 N	NAGESHWARI BHANDARI	Female	B. A./Arts/III	Renewal	8	300	2400	C	1772	1772	
	SANJAY THAKUR	Male	B. A./Arts/III	Renewal	8	300	2400	C	1772	1772	
	PURNIMA THAKUR	Female	B. A./Arts/III	Renewal	8	300	2400	(1772	1772	
	lomin kumari	Female	B. A./Arts/III	Renewal	8	300	2400	(1772	1772	4172
	M KUMAR RAWTE		B. A./Arts/III	Renewal	8	300	2400	(1772	1777	2 4172

ation:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from wayya Sourcion and other fees. Printed copy of online . 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. ... nip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and some of Parents/Guardian from all sources of the e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant we was a straight or otherwise discontinues the studies or accepts r regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact will be immediately reported to the authority for eventual discontinuance of contact of the fact of

Govt.Eklavya Collage
(Signatura & Seabofide and of the Institution)

nment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

> Category ST

> > Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

Institute Name

State Government of Chhattisgarh

Sanction Number R/8/5047/2/7/86807

Sanction Date 27/03/2019

Applications Type

ication ID	Student Name	Gender	H MINISTER CONTRACTOR					Application	s Type : Ren	newal	
930063	电影的人人大学的人类	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
The second second	HEMLATA KUMARI	Female	B. A./Arts/III	Renewal	8	300	Allowance				
841704	BHUNESHWARI DAHARE	Female	B. A./Arts/III	Renewal	from the same of the	300	2400	0	1772	1772	4172
841831	SANDHYA KUMARE THAKUR	Female	B. A./Arts/III		8	300	2400	0	1772	1772	4172
859375	KARUNA NO	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1772	1772	4472
859404	POKHAN SINGH	Male	The second secon	Renewal	8	300	2400	0	1792	1792	4192
and the second second	KIRAN KOMA		B. Sc./Science/II	Renewal	8	300	2400	0	1792	1792	4192
ally a ground	BHARTI THAKUR	Female	M. A./Hindi/II	Renewal	8	530	4240	0	1075	1075	5315
Water and the same of		Female	M. A./History/II	Renewal	9	530	4770	0	1075	1075	5845
the state of the state of the	VEENA CHURENDRA	Female	M. A./Hindi/II	Renewal	9	530	4770	0	1075	1075	5845
868418	RUKHMANI GHARENDRA	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
886220	PRATIBHA KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
887247	GUPESHWARI KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
887517	PUNESHWARI KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
887754	RENUKA KUMARI	Female	B. Sc./Bio Technology/II	Renewal	8	300	2400	0	1792	1792	4192
887796	SAVITRI KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
887847	REWATI KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
900252	YASHNI THAKUR	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
902582	LOKESHWARI KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
903003	MOHIT KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172

ation:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.so the form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and provide of Parents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant less established by otherwise discontinues the studies or accepts er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.

nction Register for Scholarship

ernment of Chhattisgarh

State:

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date

27/03/2019

Applications Type

Renewal

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

								, ppiloditori			
plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
937407	TULESHWARI NOSIRNAME	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1772	1772	4172
940219	BISHESAR KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
962977	MEETESHWARI NO SIRNAME	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
986890	OMIN NONAME	Female	B. A./Arts/III	Renewal	10	300	3000	0	1772	1772	4772
989370	SAVITA NONAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1114796	MUKESH KUMAR	Male	M. A./Economics/II	Renewal	9	530	4770	0	1075	1075	5845
1117570	ANUSUIYA NO SERNAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1134915	NEELKANTH NO SERNAME	Male	B, Sc./Science/III	Renewal	8	300	2400	0	1792	1792	4192
1149917	KHEMCHAND NO SERNAME	Male	B. Com./Commerce/III	Renewal	9	300	2700	0	1772	1772	4472
1160030	TOMESHWARI SORI	Female	M. A./Pol. Science/II	Renewal	10	530	5300	0	1075	1075	6375
1165314	SUREKHA ORENDRA	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	2 4177
1192183	BHUNESHWARI GHAVADE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1777	2 4177
1211703	CHAMELI THAKUR	Female	M. A./Hindi/II	Renewal	9	530	4770	0	1075	1075	5 5845
1219416	MENKA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	177	2 417
1219436	HEMLATA RAWTE	Female	B. A./Arts/II	Renewal	8	300	2400		1772	177	2 417
1219449	SANGITA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400		1772	177	2 417.
1219455	MINAKSHI KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	(172	17	2 257
- 1219465	RENUKA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400) (1772	177	2 417

ration:

rnment of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19



Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date: 27/03/2019

dication ID	Student Name	Gender						Applications	Type: Ren	ewal	
12275	TENE SELECTION	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
	KIRAN NO SURNAME	Female	B. A./Arts/III	Renewal	Month	To be a state of	Allowance				BIF SPEE
1240762	LUKESHWARI NOSIRNAME	Female	B. A./Arts/III		10	300		0	1772	1772	4772
1248822	MANMOHAN BHUARYA	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1251338	SHASHIKALA NO SERNAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
	MAHESHWARI NO SERNAME		A STATE OF THE PARTY OF THE PAR	Renewal	8	300	2400	0	1772	1772	4172
		Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
	JANKEE NOSARNEME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
	DINENDRA TARAM	Male	B. A./Arts/III	Renewal	8	300	2400			1772	and the state of t
1253291	PARSOO RAM TARAM	Male	B. A./Arts/III	Renewal	8	300	2400	la delica i		1772	
1253383	GODAWARI NO SIRNAME	Female	B. A./Arts/III	Renewal	8	300	2400			1772	to the second
1254880	CHHABILA THAKUR	Female	B. A./Arts/III	Renewal	8	300	2400	the second second		1772	harmonia a como de la
1255298	NEERAJ KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	A state of the same		1772	A Company of Authorities
1266806	DINESHWARI ARYA	Female	M. A./Pol. Science/II	Renewal	9	530	4770	Acceptation of the	Property or a state of the	1075	Secretary and the second second
1263494	NIRMALA NOSURNAME	Female	B. A./Arts/III	Renewal	9	300	2700) 0	and the same of the same of	1772	la provincia del la compania de la compania de la compania del compania del compania del compania del compania
1266381	ISHA PISDA	Female	B. A./Arts/II	Renewal	8	300	2400	0		1772	formale and the same
1266690	GAJENDRA KUMAR NOSURNAME	Male	B. Sc./Science/II	Renewal	8	300	2400			e tod z moste	
1269141	SUNTEE NETAM	Female	B. A./Arts/II	Renewal	8	300	2400	0 0	1772	1772	4172
1269359	PRABHA URWASHA	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	de marie e a capação de la distribución de la composição de la composição de la composição de la composição de

ration:

ed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online rship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income are surrous form all sources of the ate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution of discontinues the studies or accepts her regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the seriod it is detected.

iction Register for Scholarship

ernment of Chhattisgarh

Post Matric ST Scholarship Scholarship Scheme

Category

ST

Institute Name Aklavya College Doundilohara Distt.Balod

2018-19 Academic Year:

State

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date

27/03/2019

Applications Type

Renewal

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1272221	DEEPIKA NO SURNAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4177
1275393 K	CESHAV KUMAR PISDA	Male	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1281720 R	ZINKU NO SURNAME	Female	B. A./Arts/III	Renewal	10	300	3000	0	1772	1772	477
	MANEETA BHUARYA	Female	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	584
1284712 A	NITA NO SURNAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	417.
	IKESHWARI MANDAVI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1290385 LI	EENA BHUARYA	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1772	1772	417
1304005 Si	UMAN NOSIRNAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	417
1306102 TI	ULESHWAR NO SURNAME	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1322960 UI	MESH KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1328981 RA	AKESH KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1331277 DI	LESH KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1333273 DA	NESHWAR SINGH	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1338060 KU	LEELESHWARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1341170 SU	RENDRA KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	417
1342244 KU	BHUWAN	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	
1344336 GU	LESHWARI TARAM	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	417.
1345194 RAI	N JANA	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	4177

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from . 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online nip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income and annual income Guardian from all sources of the e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution of discontinues the studies of accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/ gending the period it is detected.



Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name

2018-19

Academic Year

Aklavya College Doundilohara Distt.Balod

State

Government of Chhattisgarh R/8/5047/2/7/86807

Sanction Date

27/03/2019

Sanction Number

pplication ID	Student Name	Gender						Applications	Type: R	enewal		
1240241	MALE OF THE PARTY	Gender	Course	Туре	No. of	Rate		uition Fee	Other Fe	e Total Fee	e Total An	nount
	ULAS RAM	Male	B. A./Arts/II	Renewal	Month		Allowance				777	4177
1346549 S		Male	B. A./Arts/II		8	300		0		a place of the second	772	4172
1353835 S	AROJ KOMA	Female	B. A./Arts/II	Renewal	8	300		0			772	4172
1354160 K	AMLESH KUMAR	Male	M. A./Economics/II	Renewal	8	300		0		April 10 miles	1772	4172
1355568 H	OREE LAL NO SURNAME	Male	B. A./Arts/II	Renewal	9	530					1075	5845
1355858 M	OHAN KUMAR	Male	B. A./Arts/II	Renewal	8	300				and the second of	1772	4172
1357890 TR	RILOCHAN NO SURNAME	Male	B. Sc./Science/II	Renewal	8	300				1772 1792	1772 1792	4172 3892
1410784 KH	HUMESHWARI DEHARI	Female	B. A./Arts/III	Renewal	7	300				1772	1772	4172
1357929 CH	IANDRAKALA NO SURNAME	Female	B. Sc./Science/II	Renewal	8	300			0	1792	1792	4192
1360765 RE	NUKA KHARE	Female	B. A./Arts/II	Renewal	8	300			0	1772	1772	4472
1360800 VE	ENA NO SURNAME	Female	B. Sc./Bio Technology/II	Renewal	8				0	1792	1792	4192
1360935 HE	MANT KUMAR NO SURNAME	Male	B. A./Arts/III	Renewal	8	30			0	1772	1772	4177
1360967 GO	DAWARI KUMARI	Female	B. A./Arts/II	Renewal	9	30			0	1772	1772	447
1361067 RAV	I KUMAR DHURWE	Male	M. A./Hindi/III	Renewal	9				0	1190	1190	596
1368617 BAS	ANTI NO SURNAME	Female	B. Sc./Science/II	Renewal	8				0	1792	1792	419
	HESHWARI NOSIRNAME	Female	B. A./Arts/II	Renewal	8		00 2400					
	TI DHANENDRA	Female	B. A./Arts/II	Renewal	8				0	1772	1772	417
					A Commence of the second	-	00 240		0	1772	1772	41
1209201 (IKE	SHWARI NO SURNAME	Female	B. A./Arts/II	Renewal	3	30	00 240	0	0	1772	1772	41

tion:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online p form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual appearance of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves on or otherwise discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/argustines from the period it is detected...

gister for Scholarship

hhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19



Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date

27/03/2019

	2016-19							Applications	Type	Renew	al		
elication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other	Fee	Total Fee	Total Am	ount
1369526	PRIYANKA NO SURNAME	Female	B. Sc./Science/II	Renewal	8	300	2400	0		1792	179	2	4192
1362894	ROSHAN LAL THAKUR	Male	B. A./Arts/II	Renewal	8	300)	1772	177	72	4172
1367731	TAMIN KUMARI	Female	B. A./Arts/II	Renewal	8	300	Annual State of the State of	And the second	0	1772	17	72	4172
1370362	MANISHA RANA	Female	B. A./Arts/II	Renewal	8	300			0	1772	17	772	4172
1371032	MANITA NO SIRNAME	Female	B. A./Arts/II		8	300	and the same of		0	1772	1	772	4172
With the second	PREETI KUMARI			Renewal		300			0	1772	1	772	4172
		Female	B. A./Arts/II	Renewal	8	300			0	1772		1772	4772
	GEND KUNWAR	Female	B. A./Arts/II	Renewal	10				0	1777	2	1772	4172
	KULESHWAR KUMAR	Maie	B. A./Arts/III	Renewal	8	30		00	0	177	2	1772	4172
1370463	TWINKAL KUMARI	Female	B. A./Arts/II	Renewal	8	30	~	240	0	107	5	1075	5315
1365986	TARA GHAWADE	Female	M. A./Hindi/II	Renewal	8			and the second second	0	17		1772	4472
1386398	MINAXI KUMARI	Female	B. A./Arts/II	Renewal	9			700			75	1075	5845
1366127 (BHARTI MANDAVI	Female	M. A./Hindi/II	Renewal	9	5:	30	770	0			1772	4172
1386331 N	NEHA GANWARE	Female	B. A./Arts/II	Renewal	8	3	00 2	400	0	and the second	m		4172
1383740 K	U. ANJALI NO SIRNAME	Female	B. A./Arts/III	Renewal	8	3	00	2400	0		m	1772	
Mary Mary and St.	NUSUTYA NO SURNAME	Female	B. Sc./Bio Technology/II	Renewal	9	3	000	2700	0	1	792	1792	4492
and proceedings of the	IAMRATA KUMARI	Female	B. A./Arts/III	Renewal	8	3 3	300	2400	0	1	772	1772	4177
and the second			B. A./Arts/II	Renewal	1	8	300	2400	0		1772	1772	417
and the second second	evkunwar kumari Iamta kumari	Female Female	B. A./Arts/II	Renewal		8	300	2400	0		1772	1772	417

tion:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from .. as tuition and other fees. Printed copy of online 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. ip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual grants of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves of the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.

or ocholarship

mment of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name

Aklavya College Doundilohara Distt.Balod

Academic Year

2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date

27/03/2019

cation ID	Student Name	Gender					Applic	ations Type :	Renewal		
1371027	HIRAUNDI KUMARI		Course	Туре	No. of	Rate	Maintenence Tuition	Fee Other	Fee Total	Fee Total Am	ount
	SEEMA THAKUR	Female	B. Sc./Science/II	Renewal	Month 8	300	Allowance 2400	0	1792		4100
The state of the s		Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1792 1772	4192
	VEENA KUMARI NO SURNAME	Female	B. Sc./Science/III	Renewal	8	300		0	1792	1792	4192
A STATE OF THE PARTY OF THE PAR	BHUNESHWARI KUMARI	Female	B. A./Arts/II	Renewal	8	300		0	1772	1772	4172
the second second second	MONIKA KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
the terminal	GANGA NOSURNAME	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1792	1792	4192
	KAMLESHWARI KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	4172
1380202	ANITA KUMARI NO	Female	B. Sc./Science/III	Renewal	8	30	0 2400	0	1792	1792	4192
1399563	BHIKHAM KUMAR	Male	B. A./Arts/II	Renewal	8	30	0 2400	0	1772	1772	4172
1408273	TRIVENEE KUMARI	Female	B. A./Arts/II	Renewal	8	30	0 2400	0	1772	1772	4172
1382261	MANISHA NO SIRNAME	Female	B. A./Arts/III	Renewal	8	30	00 2400	0	1772	1772	4172
1386475	FANESHWARI KUMARI	Female	B. Sc./Science/II	Renewal	8	30	00 2400	0	1792	1792	4192
1404967	KAJAL KOSMA	Female	B. A./Arts/II	Renewal	8	3	00 2400	0	1772	1772	4172
1409397	VED KUMAR	Male	B. A./Arts/II	Renewal	8	3	00 2400	0	1772	1772	4172
1387359	LOMESH KUMAR	Male	B. A./Arts/II	Renewal	8	3	100 2400	0	1772	1772	4172
1410440	MADHURI THAKUR	Female	B. A./Arts/III	Renewal	8		300 2400	0	1772	1772	417
1404015	MONIKA NO SIRNAME	Female	B. A./Arts/III	Renewal	8		300 2400	0	1772	1772	417
agest a comment of	LOKESH KUMAR	Male	B. A./Arts/II	Renewal	8		300 2400	0	1772	1772	417

tion:

have been kept safely in the office and will be subject to verification of competent authority. In case the application Govt.Eklavya Coll

ment of Chhattisgarh

MARKERA

Scholarship Scheme

Post Matric ST Scholarship

Category:

Category . S

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date

27/03/2019

Applications Type

Renewal

cation ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1413642	LOKESHWARI GOTAME	Female	B. A./Arts/III	Renewal	8	300		0	1772	1772	4172
1429646	MAMTA NO SURNAME	Female	B. Sc./Science/II	Renewal	8	300		0	1792	1792	4192
1417205	LAXMAN LAL	Male	B. A./Arts/II	Renewal	8	300		0	1772	1772	4172
1411111	NAGESHWAR THAKUR	Male	B. A./Arts/II	Renewal	8	300		0	1772	1777	4172
THE RESERVE AND ADDRESS OF THE PARTY OF THE	DALENDRA NO SURNAME	Male	B. Sc./Science/III	Renewal	8	300		0	1792	1793	2 4192
	MANOHAR NETAM	Male	B. A./Arts/III	Renewal	8	300			1777	177	2 4172
and the same of	MADHURI KUMARI	Female	B. A./Arts/II	Renewal	8	300) (177	2 177	2 4172
the second second	KANCHAN KUMARI	Female	B. A./Arts/III	Renewal	8	300			0 177	2 177	72 4172
territoria de la companya della companya della companya de la companya della comp	TEK RAM	Male	B. A./Arts/II	Renewal	8	300		0	0 177	2 17	72 4172
	BHUPENDRA KUMAR	Male	B. Sc./Science/II	Renewal	8	30		0	0 179	17	92 4192
term will be a second	AJAY KUMAR THAKUR	Male	B. A./Arts/II	Renewal	8	30	0 240	0	0 177	72 17	72 4172
de	TOMESH KUMAR	Male	B. A./Arts/II	Renewal	8	30	0 240	0	0 17	72 17	772 4172
417 417 1117	TIKESHWARI NO SURNAME	Female	B. Sc./Science/II	Renewal	8	30		00	0 17	92 17	792 4197
artist of the	TULESHWARI NO SURNAME	Female	B. A./Arts/II	Renewal	10	30	00 30	00	0 17	72 1	772 477.
and the second	POONAM RAWTE	Female	B. A./Arts/II	Renewal	8	30	00 24	00	0 17	772 1	772 417
Newschild London	VEENA KUMARI	Female	B. A./Arts/II	Renewal	8		00 24	00	0 17	772 1	772 417
many the same of	RADHIKA KUMARI	Female	B. A./Arts/II	Renewal	8			00			1772 417
and the second second	PREETI KUMARI	Female	B. A./Arts/II	Renewal	8			100		and the same of the same	1772 417

ation:

on Register for Scholarship

nment of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19

State:

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/86807

Sanction Date :

27/03/2019

Applications Type:

Renewal

lication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1449064	NUTAN KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1428680	ASHWANI GANWARE	Male	M. A./Pol. Science/II	Renewal	9	530	4770	0	1075	1075	5845
1425470	ANURADHA BHUARYA	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1495242	TUKESHWARI KOSMA	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	4172
1426955	YOGENDRA KUMAR	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1772	1772	4172
1489783	DEVENDRA KUMAR BHUARYA	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1777	4172
1398687	RUKHMANI KUMARI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1777	2 4172
1495290	KUMARI TAMESHWARI	Female	B. A./Arts/II	Renewal	8	300	2400	(1772	177	2 4177
1514645	SUMAN NOSURNAME	Female	B. A./Arts/III	Renewal	8	300	2400		1772	177	2 417.
1401632	RAJESHWARI NO SURNAME	Female	B. A./Arts/II	Renewal	8	300	2400) (1772	177	2 417
1503547	ANJALI ARYA	Female	B. A./Arts/III	Renewal	8	300	2400)	0 1772	177	72 417
1429924	MR SEWA RAM BHUARYA	Male	B. A./Arts/III	Renewal	8	300	2400)	0 1777	177	72 417
1526402	KRITI RANA	Female	B. Sc./Science/II	Renewal	9	300	270	0	0 1797	2 17	92 449
1447863	DAMESHWARI SINDRAME	Female	B. A./Arts/II	Renewal	8	300	240	0	0 177	2 17	72 417
1508437	KAMINEE NO	Female	B. Sc./Science/II	Renewal	8	300	240	0	0 179	2 17	92 419
1487137	KUMARI DOMESHWARI	Female	B. A./Arts/III	Renewal	8	300	240	0	0 177	2 17	72 417
1492627	MEENAKSHEE NOSURNAME	Female	B. A./Arts/II	Renewal	8	300	240	0	0 177	2 17	772 417
1516175	JUGAL KISHOR	Male	B. A./Arts/II	Renewal	8	300	240	00	0 177	2 17	772 417

ration:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the students of the stu

Govt.Eklavya Collage

DondiLohara Distr.Balod (C.G.)

ACTION Register for ScholarShip

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State

Government of Chhattisgarh

Sanction Number :

R/8/5047/2/7/86807

Sanction Date :

27/03/2019

Applications Type :

Renewal

lication ID	Student Name	Gender	Course	Туре	No. of	Rate	Name and Address of the Owner, where the Party of the Owner, where the Owner, which the Owner, where the Owner, where the Owner, which the Own	n Fee	Other Fee	Total	Fee Total An	
1403554	KUMARI KHEMLATA				Month	200	Allowance 2400	0	177	2	1772	4172
planting the action of the		Female	B. A./Arts/III	Renewal	8	300	and a linear contract of the	0	177	72	1772	4172
and the second	HINA NOSURNAME	Female	B. Sc./Science/II	Renewal	8	300	2400	0	17	72	1772	4172
1505890	DULAREE BHANDARI	Female	B. A./Arts/III	Renewal	8	300	2400	0		72	1772	4172
1505937	SADHANA BHANDARI	Female	B. A./Arts/III	Renewal	8	300	2400	Automotive To		792	1792	4192
	DULESHWARI	Female	B. Sc./Science/II	Renewal	8	300	2400	0		, , ,		4107
eri	BHUARYANOSURNAME					300	2400	() 1	792	1792	4192
1527630	TIKESHWARI NOSURNAME	Female	B. Sc./Science/III	Renewal	8		2.400		0	1772	1772	4172
1524832	SHARAD KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400		0	1772	1772	4172
1538139	DUSHYANT NOSURNAME	Male	B. A./Arts/II	Renewal	8	300	2400		0	1772	1772	4172
1526690	TIKESHWAR KARAT	Male	B. A./Arts/II	Renewal	8	300			0	1772	1772	4172
1533594 7	FARUN NOSURNAME	Female	B. A./Arts/II	Renewal	8	300				1772	1772	4172
and the second second second second	CHANDRAPRAKASH SINGH	Male	B. A./Arts/II	Renewal	8	300	2400		0	1//2		
	MANDAVI	ridic	2,			20	n 2400		0	1772	1772	4172
1543519 K	EKTEE NOSURNAME	Female	B. A./Arts/III	Renewal	8				0	1792	1792	4192
1526718 P	EENESHWARI NOSURNAME	Female	B. Sc./Science/III	Renewal	8	30				1772	1772	4172
Land or work to have	AJESHWARI SAHARE	Female	B. A./Arts/II	Renewal	8	30	00 2400		0			4177
Market Street,			B. A./Arts/III	Renewal		3 30	00 2400		0	1772	1772	
at make a few makes	UMARI BEERAM	Female		Renewal		3	00 2400		0	1772	1772	417
1541804 H	AREETIKA BHUARYA	Female	B. A./Arts/III	Kellewal	d	. A						

ion:

hat students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from at the studies of the sum o

Scholarship

evernment of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year: 2018-19



State Government of Chhattisgarh

Sanction Number R/8/5047/2/7/86807

Sanction Date 27/03/2019

olication ID	Student Name	Gender						Applications	s Type : Ren	ewal	
1544162	BHOJ KUMAR BHUARYA		Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
		Male	B. A./Arts/III	Renewal	Month		Allowance		outer rec	Total Tee	
	THALESHWAR KUMAR BURRA	Male	B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	4172
1595557	LAKESH KUMAR	Male		Renewal	8	300	2400	0	1772	1772	4172
1562380	INDU NONOSURNAME		B. A./Arts/II	Renewal	8	300	2400	0	1772	1772	4172
	ROSHAN LAL SURNAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1772	
		Male	B. A./Arts/III	Renewal	8						
	BABITA NOSURNAME	Female	M. A./Pol. Science/II	Renewal		300	2400	0	1772	1772	
1595726 k	KUMARI KALESHWAREE	Female	M. A./Hindi/II		9	530	4770	0	1075	1075	584
1571742 P	PEELESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	9	530	4770	0	1075	1075	584
	MENAKA NO			Renewal	8	300	2400	0	1772	1777	417
	PEEPAK KUMAR	Female	B. A./Arts/III	Renewal	8	300	2400	0	1772	1777	2 417
		Male	M. A./Economics/II	Renewal	10	530	5300	0	1075	107	5 637
	ANESHWARI MANKAR	Female	B. A./Arts/II	Renewal	8	300	2400	0			and the second second
1585737 M	OF727 MAYA DUULANA MAGALANA	Male	B. A./Arts/III	Renewal	8						
				Kerewai	0	300	2400	0	1772	177	2 41
						Total:	558750	0	346642	34664	2 9053

tion:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from . 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuitanvardopther fees. Printed copy of online nip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual in company (Guardian from all sources of the e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves instruction of the wise discontinues the studies of accepts r regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipediately period it is detected. Principal

Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

2018-19 Academic Year:

State

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/89020

Sanction Date

23/03/2019

Applications Type

Renewal

Application ID	Stu	dent Name	Gender	Course	Туре	No. of	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1415796	HADICH KI	MAR	Male	D. A. (Arts / III	Pengual	Month	300	Name and Parks	0	1772	1772	
1415786 HAR	HARISH KU	KISH KUMAK	Male	B. A./Arts/III	Renewal		Total :	2400	Conference proprietables	1772	1772	4172



Principal Govt. Eklavya Collage DondiLohara, Distt.Balod (C.G.)

laration:

fied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from I no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online arship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name Aklavya College Doundilohara Distt.Balod

Academic Year 2018-19

State

Government of Chhattisgarh

Sanction Number

R/8/5047/2/7/88629

Sanction Date

20/03/2019

Applications Type

Application ID	Student Name	Gender	Course	Туре	No. of	Rate		Tuition Fee	Other Fee	Total Fee	Total Amount
1F1CTTO A	ENA THAKUR	Female	B. A./Arts/II		Month		Allowance			1772	
1516/33 REEN				Renewal	8	300	2400	0 (1772		
						Total :	2400	0	1772	1777	2 4172

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship.